COMPUTER FOR DIGITAL ERA
QUESTION BANK with ANSWERS

Distribution of Questions Chapter-wise: Chapterl: Questions 1-50; Chapter2:
Questions 51-100; Chapter3: Questions 101-150; Chapter4: Questions 151-200;
Chapter5: Questions 201-250; Chapter6: Questions 251-300; Chapter7: 301-330.
Composition of Question Paper consisting of 50 Objective type Questions from the
Question Bank:

10 Questions from Questions 1-50 of Question Bank;

07 Questions from Questions 51-100 of Question Bank;

07 Questions from Questions 101-150 of Question Bank;

07 Questions from Questions 151-200 of Question Bank;

07 Questions from Questions 201-250 of Question Bank;

07 Questions from Questions 251-300 of Question Bank;

1.Mention the any two advantages of the computer
Internet

High speed

Accuracy

Both Band C

COow>

saMQumMuett Qetor(y HedTemLOSHeMeN GHLINIES.
A, @6en6TUTLLIG 6D

B. SHGeusLD

C.  §6vedlwid

D. B wmmw C

Ans:D

2.Which concept is used to predict the future with the knowledge of the database?
A. WWW
B. Cloud Computing
C. E-commerce
D. Big Data Analytics

QeummMied s1eemest LIWGTLGSEH CLLLTGUeV 2 HeUL 6T  (THSTLHMNG ISDILDMESNSHS (LPIgU|LD
A WWW

B.GLD&H& &H6uT60ILD
C O - aujsssLDd
D. GLLLIT emLD6ofImI

Ans: D

3.Which technology allows us to share the resources at lower cost?



Image Processing
Data Science
Cloud computing
Data mining

COow>

QeummMied 6He QL &6umevgd CrGemysng Gmmhg eNsneouiled LHTDILDSGHGLD.
A. @Cg UCITEOFaMm

B.. GLLLI &ulesrerv

. C&s S6uenLo

D. GLLL T énLo6afm

Ans: C

4. is the most commonly used output device.
Printer

Scanner

Monitor

Bar code reader

COw>

SIENETRUHLD LILITU(RSSID S L FTGe6vILD.
. LNf6voTL[y
V& 10151
seotnesll Hemiy
. umjGasm® FLiy

o 0 w >

Ans: A

5.ASCI| stands for
A. American Stable Code for International Interchange
B. American Standard Case for Institutional Interchange
C. American Standard Code for Information Interchange
D. American Standard Code for Interchange Information

ASClI-sit1 eNfleurésin

A. American Stable Code for International Interchange
B. American Standard Case for International Interchange
C. American Standard Code for Information Interchange

D. American Standard Code for Interchange Information

Ans: C

6. is determines the quality of the display of the monitor.
Clarity

Monitor

Scanner

Resolution

COw>

LTLLI STL8S HIHmg HIjesmuNsH@LD.



A Qsefey
B. &ewesll SHleniy
C. eruGa6uTly

0. NfSSHUID SDOMED
Ans: D

7. What is the basic element of the image in your Computer Monitor?
A. Colour
B. Resolution
C. Pixel
D. Clarity

seamell Henguiledt UL SlqliLenL. QUITH6NT 6T6dT601?
A. RimLb
8. fl$SOUID SpHMEL
c. N&erved
D. Qgefley

Ans :C

8. The data in terms of files and programs kept in the unit.
A. Input
B. storage
C. ALU
D. Processor

UGS ssausmew LGITHGHTD Q& b, CHTUILSTS L6 QFISME.
A. 2 _eefl(B
B. G&LOWILY

C. ALU
D. QFWwed

Ans :B

9. Which operators are used to perform logical operation
A. AND
B. OR
C. Not
D. all of the above

61H& YLLCIL uMgH&HHeL Y LICTagsi GFwiu|LD
A. AND
B.OR
C.NOT

D. GLOMSHETIIL.  SIEDIETISH GHILD
Ans :D

10. Which is the brain of the computer?
A. Output device



B. Storage unit
C. CPU
D. Other devices

6T&HE0IETT S60uTI60N60T CLOEMEN 6TEITLI?
A QL FTHEDILD
B. '0GL MGy wleuil
C. UGS HevL LD

D. GLYMSEHIIL.  6M6TTSHGHILD

Ans :C

11. We cannot use or run the application of the computer without
A. Keyboard
B. Mouse
C. Operating System
D. all of the above

. BT Q&6tT 2 HaNCIWeTN HS QFWIENMIILID H6uNeuied MSWITET (LDIGIUITS)
A. NlemELILILEMS
B. &l lg
C. UGS HevL LD
D. GLIM&SEHIIL.  H6M6ITSHGHILD
Ans :D

12. makes the mouse as a popular input device in the windows.
API

Games

GUI

Web camera

COw>

&SLALeOmW MNyueoLnmest 2 eeM®@ FMGHeons aeuGLIfled 2 (HeuTsHEGHAME).
A. API
B. GaLberv

C. GUI

D. Qeuls GaLomm

Ans :C

13. Which one is the most powerful and high speed Computer?
Laptop

Mobile

Mainframe

Super Computer

COow>

Qeummiet 618 NGD SHmeoTen HMID HHCoUSLOMT6T SHevtilenil?
A. LD1q &650T601)
B. m&GUA
C. Qumemued Guimedt
D. &LILIJ SOLULLL L



Ans :D

14. is an electronic memory in the processor that saves time while fetching a
data from the RAM.
A. Cache memory
B. Register
C. Accumulator
D. ROM

RAM-6b GLL L memeu Qamsnh CeisGL Cumg Qswedulsr 6hg LGEH ChisHms CeNsELD?
A.GCa& HemssTeusLd

B. fighleroLij

C. 915@LO6eLL_L I}

D. ROM

Ans :A

15. Which one of the following holds large storage space?
A. Pendrive
B. Hard disk
C. CDs
D. Floppy disk

Qeummieit 618 HHHLOMET HHalmen GCHNGHGLH?
A. QIU6BT 1q.6mIJ6L
B. 6u6dtT HL(
C. CDs

D. (1CemIt 1q6roé

Ans :B

16. What is abbreviation of ROM?
A. Real Object Memory
B. Read Object Memory
C. Read Only Memory
D. None of these.
ROM @etr eNifleundaid etstreor?
A. 2_650T6mLOWITeTT QUIT(H6 QILOLDIfl (Real Object Memory)
B. Iﬂl'_ QIJITQ'EGT[ QLDLDIf] (Read Object Memory)
C.Iﬂl; LDL@LD QLDLDIﬂ (Read Only Memory)
D. @eumMied JHID @Lemev

Ans :C

17. Desktop computer is known as

Smart Phone C. Super computer
Read Object Memory

Personal Computer

Palmtop computer.

COow>



QLervsL M SewieaNuilest OMIELILIT
A 0&GUE

B. GLILIJ SLOLILLL L[]

C. QUFGEMETEL SLDLILL L I}

D. LDl &6v0Tl60f)

Ans :C

18. Which one is used by the Digital Computer?
A. 0 to9

B. Signals
C. Microwaves Computer
D. Binary Number

QeummMied 618 19 L 60 Sewieiluiled LwIsTURHMHS)
A. UG SIqLDITEST 6TETUISHENT (0 (DG 9 6U6MI)
B. §1&60T60 &61T
C. m&CITGaleay SLUIULL L i}
D. @\J6TUTL_Lq.LOIT6TT (6LIGTTISI) 6T6TOTS 6T

Ans :D
19. is the smallest size portable computer.
Mini Computer
Smart Phones

Tablet
Laptop Computer

COow>

Slenelled AMWGID TESHHEF CF6L6VE Falq i) .
A. Lleoll SLDLIWLL L i
B. @OLOMJL GuImedT
c.GL el seutflesil
D.1DIg.& &6vuTlevtl

Ans :B

20. What type of computer is cheaper one?

A. Mini Computer

B. Laptop Computer
C. Desktop Computer
D. All of these

61HG 6UMS SHeuuNetil LD Genmbhe edleneoulled HenL &EGLD
A. WBleoll &KL LI
B.LDlg. &6utenfl
C. Desktop BSLbI;IBI'_I_I.j
D. Q6m6U Sl6m6uTSH FILD



Ans :C

21. computer has the higher processing power.
Mainframe

Desktop

Mini

None of these.

oo >

6% eUms Seuthen Siemeled QUG
A. QuuiemACHD  SOLLLL L.
B. LDlq &600TI601I.
C.mW&CHT SO L.
D. @émeu 61516)LD6VEV.

Ans :A

22. Which one is used in small offices and business shops?
A. Mainframe Computer
B. Desktop Computer
C. Mini Computer
D. None of these.

61hG SHewilesl SN JIEVIEUVSMIGET LDHMID EU6TINS &L &eriled LILIGTL(RSSUILGHDEI.

A. QuNETNCHD  SOOWLL LT
B.CQILeV&LMI  SLDLIYLL L I}
C. Iheofl &L L]
D. Q66U DTS GILD

Ans :B

23. is a special purpose computer which serves the data when requested by
other computers in a networked environment.
A. Client
B. Server
C. File Server
D. Operating system

QABLQeumjsHed 1Np sewNesNgenmed GCaMyUULL  Cumg  Sreuflensulled GCasme
QEuwiwd amuy CHrTHSLD S6utTeot.
A. &lememuieur(R(client)
B. 6MLIL &J6UIJ (server)
c. Gamiy &ijeur

D. Quwids (wemmenn (Operating System)

Ans :B

24, Computer can be carried easily any place with you.
A. PC
B. Tablet
C. Laptop



25.

. Bothbandc

slemalled MG & THEHHEF CFLSHFaI IS
A.PC
B.GL L6Vl SHOLULL LI}
C.LDlg. &6utTl6ut)
D.g LHOID Q

Ans: C

is widely used in Industries for storing voluminous data.

OOw>»

Database server
Web server

File server
None of these

uyeleuns gresemer GEALLSMHSETS CQSHTLHLGIMMEET Ljeueunrs LLGSSUILGEDSI.
A. GLLLIGUeY &J6ulJ (Database Server)

B.Qeull &iJeui] (Web Server)

C. GBI &IJeuly (File Server)

D. @eumMled JHID EeL6MmeV

26.

27.

o0 >

Ans: A

are intermediary device between client and end device.
Database server
Proxy server
File server
None of these

Semeneruil LOOMID QMIS) FMTG60THHMG (end device)QenL_ UL Q(1HSHGSLD.

A.GLLLTGUeY &JeulJ (Database Server)
B. LIJm&erdl &IJ6uI] (Proxy Server)

C. GoIMLIL &IJ6uly (File Server)

D. @eumMied JHID EeL6Mm6V

Ans: B

data in the disk are accessed using a reading head which moves front and

back when the disk rotates.

A. Hard Disk Drive
B. ROM
C. RAM
D. None of these
I96r0&HHEL 2 elTen FIe| QLG &P CUTE (LPeTEID M6TaID BaH@HD FL Q&b
Qaml - uWeaTUGSHEH OSWTELHDE!.

A ML lg6M0&
B. ROM
C. RAM

D. @euMMied JHID EeL6Mm6V

Ans: A



28. memory is used in HD where the storage disks are magnetized.
Volatile Memory

Virtual Memory

Non-Volatile Memory

Aand B

60 __ Quowifl gemeusv eruGLICH® Ig6ru&eml WSBL ML QFuluLb.

A. LDFI'Q]LB QGU)GDTQJEJLD (Volatile Memory)

B.QLDULI[_f)]&)fJ’ @mmmam (Virtual Memory)

C. 96L6VNMG MM HenEsTEUSHLD

D.A LOMHMILD B

Eoowy

Ans :C

29. holds instructions and other data for ALU operations.

. AL unit

. Registerr

RAM

. All of the above
ALU BLQIIQ &M&ESHEHEHE ANMIGHLST WOMID 1M HJ6 neUSH (hEHME).
A AL WL 6ol

B. ROM
C.RAM

D. @eummled gHID 6LV

TOow>

Ans: B

30. Random Access Memory (RAM. is a primary data storage which holds
data and instruction at the time of execution.
A. RAM
B. ROM
C. PROM
D. All of the above
Qewerses e GUTH HJe WOHMID SNEIMISHDE MUSEH([HEGD (LNG6ITEnLD
Sr6| GFLOIL G LD.
A. RAM

B.ROM
C. PROM

D. @606 SImETTHGID
Ans: A

31. The Floating Point Unit (FPU. is also known as
A. Math co-processor
B. Numeric coprocessor
C. eitheraorb
D. ALU
NHEGLD LeiTafl 3160 (FPU) 6TTMID SIEMLPSSLILGEDS).
A. BSGOD‘ﬂg; @mmﬂ Q&FWEd (Math co-processor)

B. 61600 GG)I‘I’ILIQLII‘I’&&‘I'j (Numeric coprocessor)
C. PROM
D.A 9I6D6LG| B




Ans: C

32. Which one uses multiple transistors, typically four to six for each memory location?

33.

34.

A. DRAM

B. ROM

C. RAM

D. All of the above

L6V 1qpmeiTHleroL[f&HemenLl LILIGTLI(R SIS meN, epelCleum(p Hlenesiaus QL SHAMGD QUTGIeuTs
BTG (NS0 M alem) LleTU(hSSHIHmM?

A. 119G (DRAM)
B. ROM
C.RAM

D. @6M6) SI6METISHGILD

Ans : A

is the abbreviation of Serial Advanced Technology Advancement.
ATAS
SATA
SAT
None of these
Fflwed Gbul L QFMALHILL (WeTCEIHME ST &i(h&HELD.
A. ATAS

B. SATA
C. SAT

D. @eummMleL JHID GeL6M6V
Ans:B

o0 >

is used for weather forecasting and stock market.

35.

Super Computer
Mainframe Computer
Micro Computer
All of the above

COow>

aUMEDTlEmeL (LPEaTsTTMIONLIL] LOMMILD LIMIGE FhenGuiled LweTURSSUILGEDGI.
A. ST SOOLLL Y
B. QLO6T.LIGHD SLOLIWLL LI}
C. mW&GCHT SWOULLL LI}
D. @6m6 SIMETISHGILD

Ans :A
RAM stands for
A. Real Advance Memory
B. Random Access Memory
C. Read Advance Memory
D. None of these
RAM @6t eifleum&sLd
A.Iﬂu_IGi) SIL_aUmedTery QLDLDIﬂ (Real Advance Memory)
B. GUG'G'DTLLB gq@u&:si) QLDLDIﬂ (Random Access Memory)
C.Iﬂl'_ IlL_eumedrery QLDLDIf] (Read Advance Memory)

D. @eummMleL I GeL6mev

10



Ans :B

36. What is the full form of DVD?

A. Digital Video Displaly
B. Device Vision Display
C. Digital Vision Display
D. None of these

DVD @681 (Lp() 6ig6uLD 6T6dTEDT?
A 199 L 60 afigCGuim 19606060
B. FMG60T X606l ST &
C. I8 L 6L eMlesdt lgeroliGern
D. @eummieL gHID @eLemev

Ans :A

37. Is the main disadvantage of DRAM.
. Constant refreshing
Storage
Aand B
. None of these
g6 (W&HEW SemLd.
A. SeiTeroL 6Tl QILNQIeQMI (Constant refreshing)
B. 0GL MG (Storage)
C. ol LHOID 2
D. @eummMisL g&HID GeLemev
Ans: A

A
B.
C.
D
1q-

38. provides higher speed.
DRAM

SRAM

DDRAM

DDR SDRAM

COow>

9158 Calssms aQINmIGAMSH
A.1q.84[J6TLD (DRAM)
B. 6MOSYJETLD (SRAM)
C.1919.84,J6TLD (DDRAM)
D. 119 8] 6rVIq. 4 J6TLD (DDR SDRAM)
Ans :D
39. Which one is not a type of hard disk drive?
A.SSD
B.SATA
C.SAT
D. PAT
6H& 6UMS 66T UL (B @6L6M6L (hard disk drive)?
A. 6IV6IMIlg. (SSD)
B. 6IV6TIQ.6T (SATA)
C. 6M'V6Tlg. (SAT)
D. NeTlq. (PAT)
Ans :C

40 . is a program running on a shared network.



Virtual Server
Web Server
Internet Server
None of these

oo w>

@G USTUIUL L QpLQeumj&E&ed @G UGHTEITLD.
A. eNJ&HEUGL &FJ6UI] (Virtual Server)

B.Qeull &ijeui] (Web Server)

C. @mamu_l GFeMAUWISLD (Internet Server)

D. @eummieL gJGID @eLemev

Ans :A

41. provides the power to the computer.
Current
UPS
Battery
. None of these
SUN6NEG AHSMHMS QUPHRIGHDE!.
A. aaljaizm'_ (Current)
B. WLNeTerv (UPS)
C.GULLIfl (Battery)
D. @eummMleL JHID GeL6meV

OOw>»

Ans :B

42. is a program responsible for the management of the data files.
File Server

Web Server

Internet Server

None of these

76 GHMLILS6IT GLOELTEIIENLO &G QUITMILILITE 62(h,  BIJeLMTGLD.

9. File Server

9),. Web Server

@. Internet Server

F. @eummied 6J&ILNELEMeV

COow>

Ans :A
43. in the computer will act as an interface between the connecting device and
connected device.

Port

Serial port

Virtual Server
All of the above
S6uNletNluled QeMMISGLD FMGHEID MHMILD QENONSHLILILL FT&H60TSH S MET60T
QL (P&LWLMG QFWeLLIELD.
A. Port

B. Serial port
C. Virtual Server

D. GLDGeL 2 6TTaN SIEMETIHGHILD

COow>
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Ans: A

44, used to connect external modems and older computer mouse.
A. USB Port
B. Serial port
C.VGA
D.Parallel Port

Qeuefiiym GLomL LD &6iT LoMHmILD LismLow Seualenll &1L lq. @en6unrda LILETLI(RHMG|.
A. USB Port
B. Serial port
C. VGA
D. Parallel port

Ans :B

45. Which one is suitable to connect Printer and scanner?
USB

Serial port

None of these

Parallel Port

o0 >

SF&UCAUTN LOMID CHEIT QeNEINSHS 6THS €2(h CUITIHSHSHLOTEITE)
A. USB
B. Serial port
C. VGA

D. @eummMled 6JGHILOGLENEL

Ans :D

46. is used to connect external hard disk, pen drive, peripheral devices, etc.

A. USB Port

B. Serial port

C.VGA

D. Parallel Port
: Qeueiym emmjL 1q6V&CLIJ. .QLIEL FTSHETRIGET Y &ilened LTI 6MF6d |
Qenemuissl LIsTUHHMG)

A. USB Port

B. Serial port
C.VGA

D. Parallel port

Ans :A

47. Which one is used to connect the Monitor to the CPU?
A. VGA
B. Serial port
C.USB
D. Parallel Port

618 CPUSG LOMETIILL6n] Qeneussll LwsTUGHmEI?
A. VGA
B. Serial port
C.USB

13



D. Parallel port
Ans :C

48. Which one is help to maintain your computer?
A. Without closing the application
B. Proper Shutdown
C. Power off
D. All of the above
615 2 MI&6T Senesllenit LITONES 2 6 &HmE)?
A. Without closing the application

B. Proper Shutdown
C. Power off

D. GLOGeL 2 6lTe SEMETTHGILD.
Ans :B

49. Which one helps to safe your computer from others?
A. Screen Saver
B. Proper Shutdown
C. Strong password
D. All of the above
615 2 MIGET Seuunstilenil MHMEUTSILLD QEh UTHISHTEHES 2 56 HMEI?

A. Screen Saver
B. Proper Shutdown
C. Strong password

D. GLDG6L 2_6TT61T M6 G GILD
Ans :C

50. helps to maintain our data.
A. Back up the data
B. Monitoring System
C. Proper Shutdown
D. All of the above

: STRIGET HIsmeu LTMDNSES 2 §6 HmE
A. Backup the data

B. Monitoring the System

C. Proper Shutdown

D. GLOGEL 2_61T6IT S6M 6315 &) LD

Ans :A

51 . A COMPULEN IS @.vvvvveneeieierierienieaias
A. Electronic data processing device
B. simple device
C. magical device

D. None of the above
Computer 6T6'ifr[D6i)

A. Electronic data processing 63([56)5]
B. simple &(H &)

14



C. magical &(H)
D. @ &l6L 615I61LD @6LEmIEV
Ans: A

52. Which of the following is/are operating system?
Windows

Android

Linux

All of the above

o0 w>

Ij]GU[G).I(ﬂjG).IGUI’G).IﬂJQJGT[ 61| operating system?
A. Windows
B. Android
C. Linux

D. GLDGeL 2 616N SIEMETIHHILD

Ans: D

53. Choose a programming language from the following.....................
A C
B. BC
C. Unix
D. MSWord

Nedeu(BeusTTeummMIsT 618 Programming language..............c.......
AC
B.BC
C. Unix
D. MSWord
Ans: A

54. Name an application from the following options..........
A. MSPaint
B. Java
C. System
D. None of the above
DNesreumeusreummisn g application..........
A. MSPaint
B. Java
C. System
D. @86 aigiayd Gevenev
Ans: A
55. An example for hardware device....................
A. 1/0 devices
B. C++
C. Data
D. Program

Hardware &m0 Q61 s1QEGISSTLB...ocorvvvve
A. 1/O devices
B. C++
C. Data

15



D. Program
Ans: A

56. Which of the following devices are used as input device?
A. Keyboard
B. Monitor
C. Speaker
D. Printer
(NetTeu(HeUGTEUMMIET 61&] input device & LILIGTLIGSSLILIHLD?
A. Keyboard
B. Monitor
C. Speaker
D. Printer
Ans: A

57, e, is an example for output device.
A. Monitor

B. Printer

C. Both (A. and (B.

D. None of the above

Output s@me s1GSHSSTL .
A. Monitor
B. Printer

C. (A) LbWMILD (B)
D. @8eb e1g161d @evemev
Ans: C
58. e, refers to the intangible components.
A. Hardware
B. Software
C. Firmware
D. Program

QL Hlwipiguirg components.
A. Hardware
B. Software
C. Firmware
D. Program
Ans: B

59. Theory of software was first proposed by..........cccccoovvviiennne
A. Alan Turning
B. John Tukey
C. Charles Babbage
D. Dickson
Software Gamum oL Wiy (PGeN6D QEFMETEOIGY.........ccoovvorerrers
A. Alan Turning
B. John Tukey
C. Charles Babbage
D. Dickson



Ans: A
60. .o and ....ccooeeeeiienn. are function based classification software.
A. Proprietary software and Open source software
B. System software and Application software
C. Simple software and Difficult software
D. None of the above

................... OMID ......cocvevveee.... QFWIGOLITL ML FMTHG software 66N &S.

A. Proprietary software and Open source software
B. System software and Application software
C. Simple software and Difficult software
D. @&eb e1g161d @evemev
Ans: B

(G software converts user instructions into machine readable
instructions.

A. System

B. Hardware

C. Software

D. Firmware

....................... software user instructions & machine instructions &8 LOMMMLD

A. System
B. Hardware
C. Software
D. Firmware
Ans: A

62, e software is a set of one or more programs designed to implement a
task or to solve a specific problem.

A. System

B. Application

C. Unix

D. Linux

...................... software er6iiLg) 6T S1606VE SBHE GLOGD 2_6T6r programs GMILILNLL
S LD Qauid.
A. System
B. Application
C. Unix
D. Linux
Ans: B

63. An example for General Purpose Software:
A. MS Word
B. MS Excel
C. space research
D. Both (A. and (B.
General Purpose Software si(hég166m._ @ :
A. MS Word
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B. MS Excel
C. space research
D. (A) wppid (B)
Ans: D
64, i, software that is developed to meet specific requirements such as
medical imaging, forensic investigations, automatic controls in vehicles.
A. General Purpose Software
B. Special Purpose Software
C. Both (A. and (B.
D. None of the above
DBSHSI HIOM , U6 HIEHM OMILD HTeNhid s GUUTH @6 LeTLE S SLILIHLD software 618
A. General Purpose Software
B. Special Purpose Software
C. (A) wppid (B)
D. @86 s1g161d @6vemev
Ans: B
65. OSS in computer software is ............ccccevevveennene
A. Open Source Software
B. Open Software Source
C. Open System Source
D. Open System Software
OSS 6T60MMED. ..eeeevviee e,
A. Open Source Software
B. Open Software Source
C. Open System Source
D. Open System Software
Ans: A
66. OSS programs are developed using...........ccccccvvevvevueenee.
A. Low level language
B. Machine language
C. High Level Languages
D. All of the above

OSS programs........ccccveeververeennenn. language su6b 2 BuTESILEHME).
A. Low level language
B. Machine language
C. High Level Languages
D. GuGev 2_6ien SimengGiLd

Ans: C

67. An example for Proprietary Software..............cccouenen.
A. Linux
B. Libre Office
C. Google Chrome
D. All of the above
Proprietary SOftware siG&gISSM® . coervvrvereereeenne
A. Linux
B. Libre Office
C. Google Chrome

D. GuGev 2_6ien Simen&GILDd
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Ans: D

68. i Software that is offered at free of charge without the freedom to
modify the source code.

A. Firmware

B. Hardware

C. Freeware

D. Both (A. and (B.
........................ @eveuginrs QUPRISLILEGLD software & GILILLIT 6T63T60T.
A. Firmware
B. Hardware
C. Freeware
D. (A) LDMHMILD (B)
Ans: C

69. Windows 10 is proprietary software.
A. True
B. False
C. Partially True
D. Partially False
Windows 10 is 2_flowb Qumm software.
A. &l
B. HeUM|
C. spryerey &ifl
D. @616 QUM
Ans: A

70. Which of the following is/are web browser?
A. Internet Explorer
B. Firefox
C. Opera
D. All of the above
NedTeu(meusaeummisit 618 Web browser?
A. Internet Explorer
B. Firefox
C. Opera

D. GuGev 2_6ien simengGiLd
Ans: D

71. An example for Open source Image Editor is............ccccceenen
A. GIMP

B. Adobe Photoshop

C. Both (A. and (B.

D. None of the above

Open source Image Editor si@&&ISSM @ ..o

A. GIMP

B. Adobe Photoshop

C. (A) wigid (B)

D. @86 s1g161d @6vemev



Ans: A
. Which of the following is/are example for database management software?
ORACLE
SQL
Open office
Both (A. and (B.

Cow>y

MNetreumeusreummisi 18 database management software eiGégisam(6?
A. ORACLE
B. SQL
C. Open office
D. (A) wipi (B)
Ans: D

T3 e Is popular operating system widely used in desktop.
A. Windows
B. Unix
C. Linux
D. None of the above
131153 RO LNJLIGOLDITEBT Operating System GIL V&L MLINED LIFeUeOTS LILISTU(RSSLILGH S
A. Windows
B. Unix
C. Linux
D. @8eb e1g161d @evemev.

Ans: A

Th. i system management software that manages the computer

hardware resources, peripherals and storage space.

A. Simple system

B. Operating system

C. Machine system

D. Hardware system
&6uuN6tTl hardware QYGMIMIGET, FTSHEIMIGET OMHMID storage QLH6MG HJUKGGLD SHevvileni]
GLDELTEITIENLD software 615|?

A. Simple system

B. Operating system

C. Machine system

D. Hardware system

Ans: B

75 e, operating system is used in the mobile devices.
A. Android
B. C
C. Java
D. Firefox
ﬂ[F)g) operating system mobile 8)([56)5] &GTTGTTQ]
A. Android
B.C
C. Java
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D. Firefox
Ans: A

76. Linux and Ubuntu which are open-source operating systems.
A. Linux
B. Unix
C. Ubuntu
D. All of the above
I_"DGUTG)_I@G)_IGMG)J[DQJGTT 619)| open-source operating systems.
A. Linux
B. Unix
C. Ubuntu

D. GLDGeL 2_61TaT Si6m6tTd &ILD
Ans: D

77. The computer is preloaded with system software called ...........c...ccceeenee.
A) AIOS
B) BIOS
C) ColIs
D) DIOS
6Th& system software &6utT631 @60 (Lp &60IG6L M6USHS LI(HHMSE).
A. AIOS
B. BIOS
C. COISs
D. DIOS
Ans: B

78. BIOS Means .......ccoceovveveeiiecee
A) Basic Input Output System
B) Basic Internet Output Software
C) Basic Input Output Software
D) Booting Input Output System
TTO RT3 (711191 (210 OO
A. Basic Input Output System
B. Basic Internet Output Software
C. Basic Input Output Software
D. Booting Input Output System
Ans: A

79 i is an example for Office Package.

A) Apache Open Office

B) Microsoft Office

C) Both (A. and (B.

D) None of the above

Office Package ei@ég6am @ .

A. Apache Open Office
B. Microsoft Office



COow>3

Cow>»Xx

D

C. (A) LDHMILD (B)
D. @8eb s1g161b @e0emev
Ans: C

.FOSS means ......cccoovvvvveeeeee

Free and Open Software Source

Free and Open System Source
Freeware and Open System Software
Free and Open Source Software

FOSS 6160mmed ...cocvveeeeecviieee e,

A. Free and Open Software Source

B. Free and Open System Source

C. Freeware and Open System Software

D. Free and Open Source Software
Ans: D

.OS Manages .......cccceevveeriviennnn

computer hardware resources
peripherals

storage space

All of the above

OS 61608 DFUAEEHDEL. .. ccvvivverveerrrien

A. computer hardware resources

B. peripherals

C. storage space

D. GLDGeL 2_61Ta1T Si6m6tTS &ILD
Ans: D

. The user application resides at..............c.cceenue.

Hard disk

. Floppy disk
. CD

None of the above

User application em&iGs Q@m&Hms

A. Hard disk

B. Floppy disk

C.CD

D. @8ieb e1g1610 @60emev
Ans: A

. Program which is to be executed should reside in

RAM

. ROM
. EROM

EEROM

Q&weLLI(h& S LuleTL(HLD Program 6THRIGCE @\(Ih&GLD

A. RAM

B. ROM

C. EROM
D. EEROM
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Ans: A

84. User interface controls
A. how we input data
B. how we input instruction
C. how information is displayed on screen
D. All of the above
User interface 6T60)%H 65I'_@I;IU@§)QJL'D
A. 6Tl input data Q&L Gev6TaT(HLD
B.  6TLILIG input instruction Q&H@&&GG)JG&UI@LD
C. Semgulled Tl $HEUL ST L LLHEMS)
D. GLDG6V 2 6TTaNT IEMEIMG GILD

Ans: D

85. GUI means.........ccccoeeeiverneennn.
A. Graph User Interface
B. Graphical User Interface
C. Graph User Input
D. Graphical User Input
GUI 6T6OTMITEL........ocveiiiciien,
A. Graph User Interface
B. Graphical User Interface
C. Graph User Input
D. Graphical User Input

Ans: B

86. CUIMEANS ...ovvveeeiieeieei e,
A. Code User Input
B. Code Unique Input
C. Character User Interface
D. Code User Interface
CUI 6T68TMIMED ..vveeeeeeiiesiee e
A. Code User Input
B. Code Unique Input
C. Character User Interface
D. Code User Interface
Ans: C

87. GUI USES ..vvvvvveeeiiiiiriveee,
A. Windows

B. lcons

C. Menus

D. All of the above

GUI 61608 LIWGT LIGSGID v
A. Windows
B. Icons
C. Menus



D. GuGev 2_6ien siemennd giLb
Ans: D

88. 1IN .o ,the users communicate with the computer by typing commands.

B. CUI
C. Both (A. and (B.
D. None of the above
618160 command (LPEMMG6L SeveNeaTl QLD ClFILIS el Gevetor(hLd
A.GUI
B.CUI

C. (A) LDHMILD (B)
D. @460 615161LD @6L6m6V
Ans: B

89. An example for GUI is ...
A. Windows

B. Linux

C. Unix

D. All of the above

GUI TRSHISSHTL (D ...
A. Windows

B. Linux
C. Unix

D. GuGev 2_6ien siemennd giLd
Ans: A

90. DOS is a GUI.
A. True
B. False
C. Partially True
D. Partially False
DOS 6T6OTLIG| CUI ShGLD.
A. &1
B. H6UM)
C. spryerey &ifl
D. épene)| SHeiml

Ans: B
91, o, is responsible for loading application and also for supporting the
process execution.
A. Monitor
B. Printer
C. Operating System
D. Keyboard

Ans: C
92. In the following software which is used for media player.....
A. VLC
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B. CUI
C. GUI

D. All of the above

66K EUETOUMMIET 6TIHG software media player &@ LILIGTLI(HSS LHEM.....
A.VLC

B. CUI

C. GUI

D. GLDG6L 2_6TT61T SIEHETTSH GILD
Ans: A

03, defined free software as software that can be freely used,
modified, and redistributed with only one restriction.
A. Free Software Foundation
B. Software Foundation
C. Free Software
D. All of the above
@eveudF software , QeLEUFLOMSL LIWITURSSHEFalqll, HHSHSIULE, @CF @@ SL(GLUUTL(HL 6
Lo NHCWTSHD QEFUIINUELD software 6TETMI  ....covevvvrveeveeeeveeveeveiieieneneennen QUEHIILIMISSHLILIL (BETeng).
A. Free Software Foundation
B. Software Foundation
C. Free Software
D. GuGev 2_6ien Simen&ILD

Ans: A

. i, kind of Software that can be used only by the licensed
users.
A. Proprietary Software
B. Open software
C. Both (A. and (B.
D. None of the above
................................... Software 2_[flLOLD QUHM) LWIETLIH'S S CouctonB1LD.
A. 2_[flLoLd Software
B. Open software
C. (A) LDMHMILD (B)
D. @ &leL 61516)LD @ eLmI6L
Ans: A

95. Which is the type of System software?
A. System Management Software

B. System Utility Software

C. System development software

D. All of the above

HEUUN6TTl software  6UEMS 61HI?

A. System Management Software
B. System Utility Software
C. System development software

D. GLOG6L 2_6TT61T I6M6TTSH GILD

Ans: D

96. Motherboard is an example for software.
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A.
B.
C.
D.

True
False
Partially True
Partially False

Motherboard software €2(Ih 2_&TJ600TLD &I,@Lb.

A. &l

B. H6UM)

C. spryerey &ifl

D. éplene)] SHeiml
Ans: B

97. The word software was first used by

A
B.
C.
D.

Alan Turning
John Tukey
Charles Babbage
Dickson

Software QLILIEDT (LP&HEOI6L LILIHTU(RS SIS

A. Alan Turning
B. John Tukey
C. Charles Babbage
D. Dickson
Ans: B

....................... refers to the physical components of a computer.
Hardware
Software
Firmware
Freeware

........... @@ Saalulst @uININUID Famisemer GMIGHMSI.

A. Hardware
B. Software
C. Firmware
D. Freeware
Ans: A

99. Software can be broadly categorized

A.
B.
C.
D.

Function based or License based
Bit based or Word based
Function based or Bit based
Function base or Word based

Software & LITEUOVME .....coooorooeeeene. UM SLILI(HS &6LITLD

A. Function based or License based

B. Bit based or Word based

C. Function based or Bit based

D. Function base or Word based
Ans: A

100. Application software is a.................... based classification.

A.

License
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B. Function

C. Bit

D. Word

Application software ... U EMTHS .
A. License
B. Function
C. Bit
D. Word
Ans: B

101.Windowing and graphics system implements the
A. Graphical User Interface
B. User Interface
C. Computer Interface
D. Resource Manager

eNeuGL MM LoHMID FTNEEV ML 6Tem G QFWIOLIEGSHIAME)
A. Graphical User Interface
B. User Interface
C. Computer Interface

D. Resource Manager
Ans: A

102.The primary purpose of an operating systemisa ...
A. To make the most efficient use of computer hardware
B. To allow people to use the computer
C. To keep system programmer employed
D. To make computer easier to use

Operating System-UT63T (LP & 63T60ILD CHTESLD 6T60T60T?
A 60N 6aflUT 65T euSTRLIT([H6me6n LAG6)LD SiMEnLOIL LWIGTLEGSS 2 86eUHME)
B.LD&&6IT &6utileaflemLiLl LWLIGTL(H S S IS SH MG
c.&eMesil UGCTHFMLosny GoUemnen&@&eneusHme)
c.geutnesNenill TeMGTs LILITU(HES 2 &6 S
Ans:A

103.Which is the first program run on a computer when the computer boots up?
A. System software
B. Operating system
C. System operations
D. None

&6uuTl607) boots up Y GLDGCLITG| &H6uaNlevluINeD 6Th& program (LP&E0I6L AUWIRIGLD?
A.System software
B. Operating System
C.System Operations

D. @eumMmMleL 6186 LOI6LEDEL
Ans: B

104.Which of the following Operating System does not implement multitasking truly?
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A. Windows 98
B. Windows NT
C. Windows XP
D. MS DOS

LTN6BT6U(IHLD Operating System UTl6D 2_6GoTeMLOUNGELGILI multitasking 6T&l60 QIFWIGOLIL TS ?
A.Windows 98
B. Windows

C.System Operations

D.MS Dos
Ans: D

105.Which of the following is not an operating system?
A. DOS
B. Linux
C. Windows
D. Oracle

LNetTev(HeU6TEUMMIGD 618 Operating System  BH6V6V
A.Dos
B. Linux
C.Windows

D. Oracle
Ans: D
106. In Windows,start button is used to
A. Run applications
B. Device setting
C. Turn off the system
D. All of above

eNeGoTGLmerv-UTeV, Start button 6T&H MG LILIGTLEGH M| ?
A.Run applications
B.Device setting
C.Turn off the system
D.@emeu simes gl
Ans:D

107. A small part of taskbar that has icons of background running applications is
A. Start button
B. Quick launch
C. Task bar
D. System tray

6TMh G task bar UTesT AL LG HUTN6L NstTeamsntnued QUIMIGLD LI6TLIT(HS6rM6dT Sl60T60TMISET 2 6iT6r6uT.
A.Start button
B.Quick launch
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C.Task bar

D.System tray
Ans: D

108.Which are all included in the task bar?

A. Start button

B. Cortanabutton
C. Task view button
D. All the above

Taskbar-ULTI6L 61606 M6 HHILD CEFTHSLILIL (B6iTeng|?

A.Start button

B.Cortana button

C.Task view button

D. @606 SI6M6UGHGILD

Ans: D

109.File explorer app is included in

A. Start menu
B. view menu
C. Pagelayout
D. Edit menu

ﬂﬂ)g; menu-e116V file explorer app 93_61161191
A.Start menu
B.View menu

C.Page layout
D. Edit menu

Ans: A

110.A Microsoft Windows is a(n.
A. Operating system
B. Graphic program
C. Word Processing
D. Database program

Microsoft windows 6T60TLIG 62
A. Operating System
B. Graphic program
C.Word processing

D. Database program
Ans: A

111.The date and time displays on
A. Taskbar
B. Status bar
C. System tray
D. Launch pad

G & mmid CHILD 6TH6L ST NS LD?

menu
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A.Task bar
B.Status bar

C.Syastem tray

D.Launch pad
Ans: C

112.Shut down option is available in
A. Standard menu
B. Start menu
C. System menu
D. None of the above

Shut down option eréleb 2_eitengy ?
A.Standard menu
B.Start menu

C.System Menu

D.@eummieb ergiaLicbemev
Ans: B

113.The operating system is the most common type of
A. Communication
B. Application
C. System
D. Word processing software

QUITHIEUTS Operating System 6T[h& software EUEMSEMILI FITIJHSHHI?

A.Communication
B.Application

C.System

D.Word processing
Ans: C

114.Default web browser of windows 95
A. Internet Explorer
B. Mozilla firebox
C. Netscape Navigator
D. None of the above

Windows 95-Ufl6dT @I60LL] Hl66V web browser 61§ ?
A.Internet Explorer
B.Mozila Firebox
C.Netscape navigator
D.@eummlev 1HI6LOl6LEMEL
Ans: A

115. The Task View button is used to create

.... Software
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Multiple virtual desktops
Files

Folders

All the above

COow>

Task view button 6T60& 2_([hEUMSSLI LILIGTLIGH S| ?
A..Multiple virtual desktop
B.Files

C.Folder
D.8)6M6) SI6M6TTSH GILD

Ans: A

116.A utility in Microsoft Windows designed to increase access speed by rearranging files
stored on a disk

A. Disk cleaner

B. Disk Defragmenter

C. File manager

D. IE

([ disk-UN6L CELAGHLILLL CHMLILIGEmET FTMLOLILIGE CLICVLD HI)I5H60 Caussms 1866
QUI.EUMLDSSLILIL L 60LD& G &ML eN6surGLmerv LWeTUT(R 6T&I?

A.Disk Cleaner

B.Disk Defragmenter

C.File manager

D.IE

Ans: B

117.Taskbar is used for
A. Navigation program
B. Switching between program
C. Start a program
D. All of above

Task bar 6T&M&M& LILGTLI(GS SLILGRHMS) ?
A.Navigation program
B.Switching between program

C.Start a program
D.26M6U 6T HILD
Ans:D

118.Windows displays various options to shutdown. Which is suitable at the end ofday?
A. Shut Down
B. Restart
C. Sleep
D. Hibernate

aNe@GLmerouileb shutdown CIFIQIGMHG L6V LOMMHMIULAGET Q&T(H&HSHLILL (heiTerne . &L BITET (Ll aTl6d
LwieTL(h &S Geretorig uig) 6T&I?

A.Shutdown

B. Restart

31



C.Sleep
D.Hibernate

Ans: A

119. Is an alternate means for invoking certain commands
Keyboard shortcut

Menu

Mouse

All the above

COow>

&ev HL_L mengemen & WL LIRS SleUS M6 LOMHMI 6L 618 ?
A.Keyboard shortcut
B. Menu
C.Mouse

D.£)6M6U IED6TTH GILD

Ans: A
120.Shortcut key to Open - search for files and folders
A. Windows Key + F
B. Windows Key + D
C. Alt+F4
D. Alt+ Esc

Files LOMMILD Folder-6ml HiM&& LOHMID CHL 6TH% GMIHES euflLLIETUR MG ?
A.Windows key + F
B.Windows key + D
C.Alt +F4
D.Alt + Esc
Ans: A

121. F1 Kkey is used to
A. Switch between open programs
B. Maximize - current window
C. Open — Explorer
D.Open - Help menu for active application

Flkey 616M@& LIWISTUREHMS) ?
A.Switch between open a program
B.Maximize-current window
C.Open-Explorer
D.Open- help menu for active application

Ans: D

122. Which of the following is the mobile operating system?
A. Linux
B. Unix
C. Android
D. Windows

gltp&')aianTI_G).I[i)[f)]G\') 61| mobile Operating System?
A .Linux
B.Unix
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C .Android
D.Windows

Ans: C

123.Android OS was developed by
A. Microsoft
B. Google
C. Oracle corporation
D. None of the above
Android OS 6Tlh& HIMIQIETH STV 2_(HUTSHSLILIL L &|?
A.Microsoft

B.Google
C.Oracle corporation

D.8)516L 61516)|LO16LEMBL
Ans: B

124.The Android OS has been developed by Google using
A. C/C++ and Java
B. .NET
C. Python
D. All the above
6160 & LILIHTL(H S &) Google 4,60 SI6TUTL_[FITLI(H 0S 2_(HeUMSSLILL L §I?
A.C/C++and Java
B..Net
C.Python
D.Q)65)6) M6 G GILD

Ans: A

125.Which components appear in the initial windows start up display?
A. Dialog box
B. Task bar
C. Start menu
D. All of the above
6Tlh& components Y JLDLIGHL e)GIGL TV QFTLMRIGLD Henguiled CHmeTmILD ?
.ADialog box
.BTask bar
C.Start menu
D. @66 MG GHILD
Ans: B

126. Whenever you move a directory from one location to another
A. All files inside the directory are moved
B. All the subdirectory inside that directoryare moved
C. The directory is moved the source file is not moved
D. Bothaandb

0 QLHHOGHS QAT QLIHANS @ directory- & h&THSHIDCLITASEOEVMLD
A.Directory 2_61T6NT 6T6V6VIT file&HEBHLD [H&I]ESLILIEHEH6tTm6TT
B.9Ih& Directory 2 6MTGET UMM SI6M6WI Directory SH@pLD H&HT&HSLILIHH6STMET
C. Directory h&JHFLLGE MG sourcefile HSHISHSLILIL OT606MEL
D. A LDOMID D
Ans: D
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127.0perating systems which involves a GUI-based user interface are
A. windows
B. Linux
C. solaris
D. all of these

@(h GUI- SliqlLenLudeomsst Liuleor] EenL (Lp&&m&(GUI-based user interface) 2_6TOML-&&HUI UG
SIMOLILSET WITEnI6U?

A.eN6GIIGL Terv

B 6016015610

c Ggmeomiflerv

D @)6m6U SIEDI6T & GILD
Ans: D

128.Interface used by windows is called
A. Menu driven interface
B. Command driven interface
C. Graphical user interface
D. Prompt interface
aNeuCLmeufed LweTUGHSLILGD @6t f..Cuerv ?
A.  Menudriven interface
B. Command driven interface

C.  Graphical user interface
D. Promptinterface

Ans: C

129.Expansion of GUI
A. Graphical Interface
B. Graphical User Interface
C. Graph User Integration
D. None of the above
cur @etr eNifleunssLd
A. Graphical Interface

B . Graphical User Interface
C. Graph User Integration

D. GLDEL 261161 6THI6LD E6L6Mm6V

Ans: B

130. Operating system which provides only a command-line user interface is
A. Mac OS
B. DOS
C. windows
D. UNIX
@@ &SLL60em aUfl L6 (command line Interface) @6OL(N&SHMG L (HGCL QUPRIGD Quiss
(LPEMMEDLD (Operating system)
A.Mac 0S
B.L_IT6NV (Dos)

c.eNeorGLmerv
D.uwj6vfl&er
Ans: B

131.Cortana is able to recognize
A. Natural spoken language
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B. High Level Language
C. Low Level Language
D. None of the above
SIJLITEVNT (Cortona) UMV 6T60& HRIESHES (LIqU|LD
AQuinens GuaLd QomLHl
B.2wij Hemew Qompl
CEMDbHS Henew QLomA
D. GLD6L 2_6iT6r 616D §6LEmEL
Ans: A

132.Android phones can run many applications simultaneously. True or False
A. False
B. True
C. Partially true
D. Partialy false
e gmi@ Cumstise Gy CHISSL L LweTuT(hEsner @uwiss (plgujd. slwm Seupm
A §aim
B. &If]
c.uné) &l
D. LUM&) Seumi
Ans: B

133.When you start up the computer the boot up storage at which the BIOS versions
manufacturer and data are displayed on the monitor is called

A. Bootstrap

B. Power on self test (POST.

C. System configuration

D. Kernel loading

Priser setiefl lous@n Curg CaAllL cusm) §louss B10s LHLILSET 2 HUSHWITET] HMID HIey

SEOUSTENGSILGD 6T601M)| SMPSSHILGHMS
A. Bootstrap
B.&W Camgemen &l LFCEFTHMed (POST) .
C. 6MmLDLILY
D.QI&IJ6TT6L JMHMIGH 6D
Ans: B

134.Example of open source operating system is
A. UNIX
B. Linux
C. windows
D. bothaandb
HOHE cpev QUISES (PEMMEMLDSHE (Open Operating system) 2 GITJEHOILD
A wesfléerny
B. 6016TT&H6M
. eNeurGL M
D.& LOHMID g @resuBLd
Ans: D

135.The essential difference between an operating system like Linux and one like Windows
is that
A. Windows can run with an Intel processor, whereas Linux cannot
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B. Linux is a proprietary whereas Windows is not

C. There are multiple versions of Linux, but only one version of Windows
D. Any programmer can modify Linux code which is not permitted with Windows
eOlearday MM aNaiGLrev eNgHuimgid

A.eNenGLmerv Q6L eL QEwed Qamanh Quwiss (LlgUb, e0lersey @ILeTs)
B. 60l6aT&H6V €@ Helflen G, HCHFWLWD aNGICL T LMV

C. 60l6uT&erv LIew LIFILILIGET 2 6iTenssl, Qu6s1med 6Gy ep(h eMleuGLmery LG
@plguyd
Ans: D

136.Which is thelatest versionof MS Windows?
A. Windows 2007
B. Windows 10
C. Windows 2008
D. Windows 7
MS Windows @68 UGS LI 6182
A.eNeniGLTerv 2007
B. eMeorGLmerv 10
c.eMeorGLmery 2008
D. eetuiCGLmerv 7

Ans: B

137. Android isa(n. ... operating system
A. Open source

B. Microsoft
C. Windows
D. Mac
&IGWLUI'I'UJCI)\ GTS&TUQI ——————————————— .. @I.LI&")BS (LPEMMEMLD (Operating System)
A.Open Source
B.smpmei,(ZUﬂ&rrUL
c. eNenrGLmerv
D.GLD&
Ans: A
138. Which of the following is not a multitasking operating system?
A. Windows
B. Linux
C. Android
D. DOS

NesTeu@pLD 61HS € LISDLI6TN (multi-tasking) @UISE (LPENMENLD SI6L6V?
A. eNeioiGL ey

B.60l6uT G610
C. Sl6vur_gmi@®
D.L e

Ans: D

D. 6Thg LGHTANMF eMNeuiGLmav edemseriled SMINSSHILLTE edsmsery GMUilenL LMHM

139. You can move a window to a different position on your screen by dragging it by its
A. Move handle



B. Tail
C. Status bar
D. Title bar

2 RIGET SemIuiled @b FTNMTHMS HFHET QPUUTEL Q(PSIF (dragging) CFELELEVMLD
A.Move handle
B.GILL16L

c.fsmev LILemL
D.&H6MmEVLIL LI 6L
Ans: A

140.MS-DOS operating system is a
A. command line interface
B. single user interface
C. single tasking interface
D. all of these

140. MS-DOS QUWIES (LPEMHMEDLD
A.sLLemen auifl QemL (Lp&LD
B.€@M6eMM LI @Q6mL (LPSHLD
C.@Memnm UMMM @6mL (LPSHLD
D. QM6 SMETTHGILD
Ans: D

141. Which of following is used to access programs installed on computer?
A. START button
B. Windows explorer
C. Internet explorer
D. Control panel

&euesNuNed Himieuriu L BlFeb&Hemen S6um1s S eurm| LeTU(GSSLILGEDS)?
A..START QLTS S TEMEU SI(LDH G 6D
B. e6GorGLImerv e1&eroLIGenTIy
C. Q6L JQBL 6T&erOLIGONTTIIY
D. &L RUUTL (B &(Lp LEH6L: @
Ans: A

142.GUI enables the use of a to navigate through various menus, icons, buttons,
and dialog boxes.

A. Mouse

B. Keyboard

C. Shortcut key

D. None of the above

GUI UeLGaIM QLDEIGSHET, HeTTemIGET, CUTSSHMEITH6T, WMHMID 2 MIITLED QUL Ig&HET QUAIWLITS 6(1h
U LWTUESS 2-HUBMSI .
A.LD6Y6rV
B. NenFLILIVEN S
C.@MIG@aN aNmFLILIVmS
D. GLDGOI6L 2_6TT6rT 6TGI6YLD @6L6m6V
Ans: A

37



143.The keyboard is output Device used to input data to the computer

A. False
B. True
C. Partially true
D. Partialy false

alensliLeems QeuaNui® saens@ sey 2 araf(h QFuiw LweTURLD &TS6TLD

A. M)

B. &Ifl

. umé) il

D. LUMT&) Haumi
Ans: A

144. Windows is not an open-source, only Microsoft has the exact procedure for starting their

OS.
A. False
B. True
C. Partially true
D. Partialy false

eMNGIGLITErV open source Sl6VEV, EMSGCHTEMLL 1960 DL (HGLD FHIG6T 05 &3 Hleuds Flwime

QEWIL(LPEMM 2 _6TTerNg) .
A. SQUMT6s
B. .2_6U0T6MLD
C. UM giluimeog)
D.UGS Heummeng
Ans: A

145. Windows Key + R is used for
A. Switch between open programs
B. Maximize - current window
C. Open — Explorer
D. Open - Run menu
aNeoGLmerv & + 9 LweTu®HSE
A. Switch between open programs
B. Maximize - current window

c.HMHG - e1&HeroLIGenmyiy
D.HMHG - QsnImer GUISEH6LD
Ans: D

146.0SS stands for:
A. Open System Service
B. Open Source Software
C. Open System Software
D. Open Synchronized Software
0ss - @66[ Oﬂlﬂ&lﬂ'é’:&)Lﬁ
A. Open System Service
B. Open Source Software

C. Open System Software
D. Open Synchronized Software

Ans: B
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147.Set of programs which consist of full documentation.

A. Software Package

B. System Software

C. Utility Software

D. File package

(D WOUTTTRIGET QBMEUIL software.

A. QOETQUIT(HET QFHTGLIL
B. &6utiesll QLD ETQILIT(MH 61T
C. Uwledtum (i QLDedTQLIT(H 61T
D. Gamiy QgL

Ans: A

148. Work area on which computer windows, icons, menus and dialog box appear is called

A. screen
B. desktop
C. working area
D. frame
&6utT6vTl windows, icons, menus and dialog box (‘:g,rrsin@l.‘n u@ﬂ
A. screen
B. desktop

C. working area
D. frame

Ans: B

149.What is operating system?

A. collection of programs that manages hardware resources

B. system service provider to the application programs

C. link to interface the hardware and application programs

D. all of the mentioned

AUISS (LPEDMEMLD 6TEITMITED 6T60T60T?
A. 6UEBTGILIT ([ 61T(Hardware) e6NRIGem6 BijeusHS@Ld B0 &el6dt (program) Q&M@ LIL
B. eXlevureoriLl BljeL& @5 5@ HeutNevil Gaemed ULPMIGBII(system service provider)
C. QUETQUIT([H 6T LoMHMILD LIWITTUIML (B BIFeL&EmaT QL (L&D QFILILD @6mevoriiL|
D. GO B6T6 SIEn6TTSH G

Ans: D

150.Which of the following is not essential to shut down your computer?
A. Save all opened file
B. Close all running applications
C. Switch off monitor
D. Cut off the power supply
2 MIG6T Seumesilenl cp(heusm@ Leiau(bLd 6186 Sleuflin?
A HDh eTeveom CHMILSmeD CELAGSLD
B. QWMRIGL 6Te06OM LIIGTUT(HEMeD CLAL 6VITLD
C. DML 6MI SI6M6IILILIG)
D. LOGTEMILD SI6tollg SHLILILL G|

Ans: C

151. Text-styling feature of MS word is
A.WordColor
B.WordFont
C.WordArt
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D.WordFill
MS 6UIMT&H6M & 2_6MI] 61V6DL 60! SILDFLD 6T60T60T?
A.WordColor
B.WordFont
C.WordArt
D.WordFill

Ans: C

152. We can insert a page number at
A.Header
B.Footer
C.Both Aand B
D.None
6(Ih LIS, 616501606001 6TRIG S 2_eiTafl(HGeumd?
A.GEn6VLIL
B.3lg.5GMILIN6D
C. AMMID B & @retorhid
D. GLOG6L 2 61161 61§D G6L6mI6V

Ans: C

153 .The direction of a rectangular page for viewing and printing is called

A.Orientation
B.Direction
C.Print Layout
D.Preview

el el LmHmILD NflebTig ki e QF6U6Us LIS &S SH 6T Hengemiu
A. GBITEGHl6émev(Orientation)
B. §lém& (Direction)
C. 31§ & SGMLOLIL(Print Layout)
D. (P 6TG6uTTL_L_LD

Ans: A

154. Where footnotes appear in a document?
A.End of document
B.Bottom of a Page
C.End of Heading
D.None
SEUTTHHEL Sl GOSN 6ThICSH CHMETMID?
A. (1 ShOUETIIS Sl6tT (LP1g.6|
B.2(h U&S&SH6H &LD
C. H6m6VLILT6 (LPlg.6l6v
D. @ &leL 615161 LOl6L6VL
Ans: A

155.1n a PowerPoint presentation
A. Movie clips can be inserted but not sound clips
B. Sound clips can be inserted but not movie clips
C.Both can be inserted
D. Only movie clips can be inserted

TETM| UMLPSHSLILGHMEI?
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156.Which file format can be added to a PowerPoint show ?
A .jpg
B.gif
C .wav
D All of above
ueugumuNeoL. HSPEFSUNCD 6ThE CHMUIL 6llg UGG (file format) CEJ&HS (LPlg.ULD?
Ajpg
B.gif
C. wav
D. GLD6L 2_6IT61T SI6M6315H GILD

Ans: D

157.How to select one hyperlink after another during a slide presentation ?
A.Ctrl + K
B.Ctrl +H
C.Tab
D.Ctrl+D
2@ eVemeL(h UPMmIGE CUTE WOHADITE  MaLILfelhs CHIHCS(H G 6TLLIg.?
A.Ctrl+K
B. Ctrl + H
C.Tab
D.Ctrl+D
Ans: C

158. SQL stands for

A. Structured Query Language

B. Sequential Query Language

C. Structured Question Language

D. Sequential Question Language
saL eifleur&sLb eTedTear?

A.Structured Query Language
B. Sequential Query Language

C. Structured Question Language
D. . Sequential Question Language

Ans: A

159.In a database table, the category of information is called
A. Tuple
B. Field
C. Record
D. All of above
@(h SIeSHHaT S L elmeTuiled(database table),&&6U60I6T 6U6ME 6TUAUTMI SDPSSILGEDSI?
A. @LiN6r
B. &H6NLD(field)
. udley
D. GLD6D 2_61T6T S16M6315 &ILD
Ans: B

160. Which field type will you select if you need to enter long text in that field?
A. Text
B. Memo
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C. Currency
D. Hyperlink
Brugen e Chy 2 emyulled HienLpwl Ceusini(hLD 6T6TMITEL 6THS SleNMEDIL CHIHESIIEHES Cousiai(HLd ?

A. 2 6DIJ(Text)
B. QuGLom
C. [HIT6BOTLLILD
D. 6maLITe0MmIS
Ans: B

161. The size of yes/no field is always
A. 1 Bit
B. 1 Byte
C. 1 Character
D.1KB

D 1 @Q6LEM6L field 66
A1 9L
B.1 6oL
C. 1 611pSa
D. 1 KB
Ans:A

162. In a database table, the category of information is called
A. Tuple
B. Field
C. Record
D. All of above
@b STUGHSH L eUneuiile[database table], H&HEUD UM 61601 SMLPSHHLILGEMS)
A @6
B.&6NLD
cuéey
D. GLOGELUETTEN H6M6T G GILD

Ans: C

163. To create a new table, in which method you don’t need to specify the field type and
size?

A. Create table in Design View

B. Create Table using wizard

C. Create Table by Entering data

D. All of above
@@ USHW SILL UMIEnIL 2 (heUlTHS, BRIGET 61HE eUmEBUTIED field type LOMMID size GMILINL
GCHemeUUNeLEM6D?

A. Create table in Design View

B. Create Table using wizard
C Create Table by Entering data
D. GLOGEVU6TTENT IEM6TTSH GILD

Ans: C

164.From where can we set the timing for each object ?
A. view, slide sorter
B. slide show, custom animation
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C.Slide show, Slide transition
D. slide show, custom transition

. STRIGGBHE euCauT(h QUTHEHSGL GBHILWD HNDES (LG U|LD
A. eleTedl ,6rveme0(H GeromjL QL i}
B .eeneu(h Gagrm, el Lb SiesNGLo6edT
c. avemeu(h BBPES, erveneu(h LOMMHMLD
D . efvemev(h Gewor, VL LD LIMHMLD
Ans: B

165.How can we view slide show repeated continuously ?
A. loop more
B. repeat continuously
C. loop continuously until Esc
D. none
QerLy&FSuns WBem@ 6Tlg evemeu® HSDEHMUI HTD SHTEEI6OMD?
A, QETLFESWITeT oML
B. st (HLd QST FEAWITS
C .esc 6U6MIT QG ITL[JEFHUITS eYTLI
D. GGV U6TTEN HI6M6TT S HILD
Ans: C

166.Which function in Excel tells how many numeric entries are there ?
ANUM
B.COUNT
C.SUM
D.CHKNUM
16QE60L 2 6Tan 6THE QFWICOLT(H 6THSHEM6IT 616801 2 _6TTeT(hEHeNT 2 eferienr 6T60IM) CFTELEHMGI?
A.NUM
B.COUNT
C.SUM
D.CHKNUM

Ans: B

167.A features that displays only the data in column (s. according to specified criteria
A.Formula
B.Sorting
C.Filtering
D.Pivot

. 6ThG SIDFD GOUILL SeneyCamev&e Lig Hgsd Hrey WLGCEWL STLGHME.
A.Formula
B.Sorting
C.Filtering
D.Pivot

Ans: C

168.The Greater Than sign (>. is an example of operator.
A.Arithmatic
B.Logical
C.Conditional
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D.Greater
Greater Thansign (>) ___ SJLUCILL &G 625 2 ST6uuiLD.
A.Arithmatic
B.Logical
C.Conditional
D.Greater

Ans: B

169.Excel is a collection of workbook
A. Workbooks
B. Worksheets
C. Charts and Slides
D. Data
Excel 6T63TLIG| LIGTINLILIS & SHSHH6T............
A.LIGINLILS & SLD
B.LIGTUN & S T6TT&6NT
C. Charts and Slides
D. Bey
Ans: B

170.MS EXCEL Based on Software

A.WINDOWS
B. DOS
C. UNIX
D. LINUX
MS EXCEL. Quossroun (5 617- 600607 24ig LitleorL_

A.WINDOWS

B.L_IT6rv

C. weoflgerv

D. eVleorderv

Ans: A

171.Which of the following is NOT a type of Microsoft Access database object?
A. Table

B. Form
C. Worksheets
D. Modules

. Netreu(meuemeummled 6Temed smDECHTEMIL. HEFAV database object UM H6V6V?
A Table
B .Form

C. Worksheets
D. Modules

Ans: C

172.Which of these is not the right version of MS-OFFICE?
A. OFFICE XP
B. OFFICE VISTA
C. OFFICE 2007
D. OFFICE 2010

6T6meu Ms- OFFICE &flwimest L&Y 316D6v?


javascript:%20void%200;

A. OFFICE XP

B. OFFICE VISTA
C. OFFICE 2007
D OFFICE 2010

Ans : B

173. End KeY....coeovievieieciecee.
A. Moves the cursor end of the line

B. Moves the cursor end of the document
C. Moves the cursor end of the paragraph
D . Moves the cursor end of the screen
End Key 6TEOTLIGI .+ vvvvvvvnnnnnnniennnninninnnannns
A. Moves the cursor end of the line
B. Moves the cursor end of the document
C. Moves the cursor end of the paragraph
D. Moves the cursor end of the screen
Ans : A

174. MS-Office is-
A. Application Software
B. System Software
C. Operating System
D. All of Above
MS- Office -
A. Application Software
B System Software
C. Operating System
D . GLdGeuu6iTar SiemeuTd GId

Ans : A

175. In which layout, the margin of the page is displayed in MS Word —
A. QOutline layout
B. Web layout
C. Normal layout
D. Print layout
61hG SIMLDLILINGD, LiI%& S Sl6T eXlafLdL MS Word @60 &6 N&SLILIHEHMS) -
A.SI6)L_6DI6V63T S60ILDLIL|
B .6U6DY6V 6)1q.62I60ILOLIL|
C.@LIGOLIT6TT S6mLOLIL]
D.SI&FEI(h GeneuemLOLIL
Ans: D

176. Which of the following is not an office suite?
A. MS-Office
B. Lotus Office
C. Star Office
D. Close Office
&1D sremrUeummMIed sTeme office suite HELEV?
A MS-Office
B. Lotus Office

C. Star Office
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D. Close Office

Ans: D

177. The formatting toolbar has the Minimum and Maximum Size of the font.-
A. 8,68
B. 8,70
C.6,68
D. 8,72
6l eUEMLOLIL| &(HTILILIL g (formatting Toolbar) 6T(LpSSI([H N6 GOMBSHLILF LOMHMILD SIHSULE a6
2 _6iTeng).-
A8, 68
B &, 70
C. 6,68
D.. 8,72

Ans: D

178. In a paragraph, the distance between the two rows is called ...................
A.Spacing
B. Word Spacing
C. Line Spacing
D. Row Spacing

€ (Ih LU% & (Paragraph), QT6501(H 6Uflen & &E56E QenLUTNd 2 6161 HAJLD ................. 6T60TM) SMLSELILRHMGI.

A.. 6r0GILIENOIMI

B. enLQeuer

c. eurfl @evL_Qeuaf

D. suifleng QemLGleuead
Ans: C

179. Usually in a rows, line spacing is —
A .15
B. 2.0
C.05
D.1.0
QUITHIOITS 62 (1 suflenguned ,6uifl QL Gleue-
A. 15
B.2.0
C.0.5
D. 1.0

Ans: D

180. An extension of the file created in MS-Word 2003.
A .doc
B .docx
C .ppt
D .exe
MS-Word 2003 @60 2_(Heum&sLILIL L CHMLILN6T HL g L1,
A.doc
B..docx
C. ppt
D. Exe

Ans: A



181. Which of the following menu is used in MS-Word to change the character size and
typeface?
A.View
B. Tools
C. Format
D. Data
character 31616 LOMHMILD typeface LOMMHMESHEMS LOMMHMIEUSMH S MS-Word @60 Ll6Ta (LD QL&D 6T
LweTL(h &S LU U] ?
A View
B .Tools
C . Format
D. Data

Ans:C

182. In the. , the first letter of each word comes in a small case and all other

letters come in a big case.

A. Uppercase

B. Lowercase

C. Toggle case

D. Title case

. 60, eUCIUT (B UMTHENGUTEHT (LPGH6V 6T(LpSG] small case EU(BLD MM SIEMETHGILD big case- 6D.

6U(HLD.
A . Uppercase
B . Lowercase
C . Toggle case
D. Title case

Ans: C

183. Which of the following is not a font style?
A. Bold
B. Italic
C. Regular
D. Superscript
HetTeu®euS60 618 6T(LPSSIH LIMewn (font style) @eLemev?
A. Bold
B. Italic
C .Regular
D. Superscript

Ans: D

184. Which of the following options is not in the Insert — Picture menu?
A. Chart
B.Graph
C. Clip Art
D. Word Art
S1p&6uTL (b LILIMISE6 (option) 618 - GI& (Ih&6V(Insert) - LIL(Picture) QILDE®I0TN6L @60L6m6n?
A.Chart
B. Graph
C .Clip Art.
D. Word Art

Ans : B
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185. Which of these commands is not available in the Tools menu
A. Auto summarize
B. Auto text
C. Macro
D. Autocorrect
BeummleL 6T1h & SLO6ITL toolmenu- 6160 E6LEMEV?
A . Auto summarize.
B . Auto text
C . Macro
D. Autocorrect

Ans: B

186. Superscript, subscript, outline, emboss, engrave are known as-
A. Font effects
B.Text effects
C. Font styles
D. Word Art
Superscript, subscript, outline, emboss, engrave GTG&lug;j
A. Font effects
B . Text effects
C . Font styles
D. Word Art

Ans: A

187. The name of the font used by default in MS-Word.
A.Times New Roman
B. Algerian
C. Arial
D. None of These
MS-Word @60 @ulevLjBlemeoitms LwletTL(H& & LILELD font QL.
A Times New Roman
B Algerian
C . Arial
D. GLogyleiTern gD @eLsmev
Ans: A

188.Which of these options is not correct?
A. Title Bar
B. Status Bar
C. Properties Bar
D. Down Bar
. @S (b LULIRISEM6D 618 FHIWITETS H6D6V?
A.Title Bar
B. Status Bar
C Properties Bar
D.Down Bar

Ans: D

189.Page Border option is in the menu.
A. Insert
B. Format
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C. Tools
D. View
PageBorder e([5LILILD QLD@_IG)j]G\') 2_6IT6NTg).
A . Insert
B Format.
C . Tools
D. View

Ans : B

190.Copied Data in MS-Word is shown in ................
A. Task bar
B. Task pane
C.Clip art
D. None of these
MS-Word @60 2_6tem GMOIUIL (B &&6260&61T(Copied Data) 6THIE 26O ...............
A Task bar
B Task pane

C Clip art
D. None of these

Ans: D

191.Which function is used to input the date only in MS Excel?
A.Today
B. Now
C. Time
D. Calendar
MSExcel @60 2_6iTenm G 2_seflL 6THG ClFwebum(h L6TLGSSLILGRHMEI?
A (HGL
B. QUGS
C. GmijLd
D. BTL &L Ig
Ans: A

192. Which Function is used to calculate Remainder in MS Excel?
A. INT
B. FACT
C. MOD
D. DIV
MSExcel @160 Remainder &6UISEIL 6TH& Gl&WwieLLIT(H LILGTLIEGS SLILGHMSI?
A. INT
B. FACT

C. MOD.
D. DIV

Ans: C

193.A spreadsheet is a collection of pages is called a
A. Workbook
B. Art book
C. Worksheet
D. Documents
@ NG MeT L&SHMIGeMNsHT QAFHTGLIL 6TETLIG) 61631 SUMLPSHSHLILGHMS)
A. @585
B . Art book
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C.&afL
D . LT&@GID6tL_erv

Ans : A

194. What is the Extension of Excel Workbook in MS Excel 2007?
A. xIx
B. .xlsx
C. xlex
D. .xIxx
MSExcel 2007 @60 6T&QF60 LITNLILIS & &5 S6tT eifleuT& LD 6TedT601?
A. XLX
B. XLSX

C. XLCX
D. XLXX

Ans: B

195. Which function is used to calculate Rate of Return, Loan, Amount and Future Value ?
A. Statistical function
B. Financial function
C. Logical function
D. Mathematical function
&L_66T NAHLD, HL_65T, AFHTe0S LOHMILD THTSHT6L LDSILIML HemTb L 6ThHS QFuwieoum®
LweTL(RSSLIUGEDGI?
A. VL MLIg6r0Ig.656M function
B . 60)LI6OTTEOTEILIGD function

C.Qeumgh&&60 function
D . Mathematical function

Ans: B

196. What is the shortcut key to insert current date in cell?
A. Ctrl +;
B.Ctrl +T
C.Ctrl+D
D. Ctrl +/

Cell 5MHGUMEMG W CHH) Q& (G EUSMH SIS GMISHGULD OT60E 6T63T60T?
A. Ctrl +
B. Ctrl+T

C.Ctrl+D
D. Ctrl+/

Ans: A

197. What is Extension of PowerPoint Presentation?
A. .POT
B. .PPT
C..PTP
D. .PPE

PowerPoint 61eT&&& &ML AUt eNifleum&&LD 6T6T60T?
A POT
B. .PPT
C. .PTP
D. .PPE

Ans : B

198. What is the shortcut key to create new files in PowerPoint presentation?
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A.Ctrl + N
B.Ctrl +S
C.Ctrl+ M
D. Shift+ N

PowerPoint l6NM&&&HSTL_&lUTl6L LSl CHMTLILISEMET 2_(HeUTSHS GMISHG UL e)lénd 61601607 ?
A Ctrl+N
B.Ctrl+S
C.Ctrl+ M
D. Shift + N

Ans : A

199.How to insert a table in a slide?
A. Table menu & Insert table
B. Click on the insert table in the content pane of the blank slide.
C. A and B Both
D. The table can not be inserted into a slide.
€2 ([ slide- 19.60 SIL_L_6U6M6u0TEMILI 6TLILIG. GEFFLILIG)

A . Table menu & Insert table
B. Click on the insert table in the content pane of the blank slide.

C. oI LMD
D. SIL_L_6U6M6TTI6MII 6106160 (h &G 61T C1& (& (LPLg WIS
Ans:B

200.Which of these slides is used as a background?
A. Gradient
B. Texture
C. Picture
D. All of these
@b eVemeLIq 6D 6TNhG LTetTeuteudi LILIGTLI(GS SLILI(HHMS)
A . &Jmg QuesTL
B . Texture
c.0&&
D . GLOG6L 2 61161 EN6TTSH )
Ans: D

201.Computer Network is
A. Collection of hardware components and computers
B. Interconnected by communication channels
C. Sharing of resources and information
D. All of the Above
S6uUTI6oTl  EUMELSHFHENLD 6T6OTLIG] ?
AQUETRALMT(HET SamIGeT LHMID Heeonl CFSHILL .
BASMTLIY GaameLael eetiCMICL MM @eneusbsUuT (h 2 6itere.
C.OUAMRIGENEUILD HEHEULSHENAILD LIFI]EH60
D.GLOQYIEITEN M6 GILD
Ans:D

202.What is a Firewall in Computer Network?
A. The physical boundary of Network
B. An operating System of Computer Network
C. A system designed to prevent unauthorized access
D. A web browsing Software
(5 SeueTleiluiled .. LIWIFeumed QbL j& 6T6OIMITL  6TedTenT 2



A.G6uT6oNIUIN60T 6T6LEM6L.
B.&6utNerl QBL e f&H&60T QUISHS (LDeMMEMLD.
C.OMESHHEGSHILLTG IS (PO §HES 6(h&6N6mN 6llgQIMLDLILY.
D.Q606utTL 2 60M6YH6D GILDETTGILIT(R 6.
Ans: C

203. What is the use of Bridge in Network?
A. to connect LANSs
B. to separate LANS
C. to control Network Speed
D. All of the above.
QBL62[J& LIM0GHHET LILIGH 6T60T60T 2
A.@66SHS LAN
B.LNf&S LAN
cOpLes CoussHems sL(HLUUBGHS
D.CLOGYIETTEN M6 GILD
Ans : A

204.What is the benefit of the Networking?
A. File Sharing.
B. Easier access to Resources.
C. Easier Backups.
D. All of the Above.
QB epf&&l60T LIWIeoTUT() 6T60T60T?
AGSMILY u&lijey
B.6TOMNSTEH CUATHIGHENET ITDIGSH6V
c.eTefMGIment SmLIL
D.CLDGYIENTEN DTS GILD
Ans :D

205. A protocol is a set of rules that manages
A. Data communication.
B. File sharing.
C. Easier Backups.
D. None of these
ApdWwenm HFeuHSGL eN&&eaflstt QHMTGLUTGLD?
ASTe| QBT
B.G&MLUIL L&IT6y
c.eTeMGment SImLIL
D.Q&6L 61816 LOI6LEM6L .
Ans :A

206. Computer network that spans a limited physical area, usually ranging from a small office
to a building is known as

A. LAN

B. WAN

C. MAN

D. PAN
56wl QUMeLSHFHMGHL GMILLLL 6TLEMLSEG6T SN HVIQILSSHED QFHTLMRIA QUi euemTHLD
6T60TLIG  6T60TMI  SIMLPSSLILHILD.

ALAN
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B.WAN
C.MAN
D.PAN

Ans:A

207. Computer network which spans a large physical area, connecting several sites of an

organization across cities, countries and continents is known as
A. LAN
B. MAN
C. WAN
D. PAN

SeutTletTl QUMELSHSHTHHL 6B BMLI.e0\([HHEH LGN BTHSEHHES Qeneuss LUIETLHD SIMLDLIL.

A.LAN
B.MAN
C.WAN
D.PAN

Ans:C

208. Most common type of a computer network is
A. PAN
B. WAN
C. LAN
D. MAN
O&eD QUITGIeUTET QUM &Heutnesil QBL €M
A.PAN
B.WAN
C.LAN
D.MAN

Ans:C

209.The first Network
A. CNNET
B. NSFNET
C. ASAPNET
D. ARPANET
PGS (PGHEOIEL 2 (HeUTSHEHLILILL G| EUEMELGENLD
A.CNNET
B.NSF NET
C.ASAPNET
D.ARPANET

Ans: D

210. The is the physical path over which a message travels
A. Path
B. Medium
C. Protocol
D. Route
Qewiglenws LWIGTUGSSHIHM QUIcOLITET LITens
AQILAl (PATH)
B.24TL_&LD (MEDIUM)
c.ApMI(LPemM (PROTOCOL)
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D.UT6MG (ROUTE)

Ans: B.

211. Which of this is not a network edge device?
A. PC
B. Smartphones
C. Servers
D. Switch
@dleL QBL6pish eMNelDL FTGHEUILD 618 Qevemew 2
A.PC
B.Smart phone
C.Servers

D.Switch

Ans: D

212.A set of rules that governs data communication
A. Protocols
B. Standards
C. RFCs
D. None of the mentioned
F6e QsMLJsoU HijeufsH@G aNdHseailsr QHT@GLIL eTeTeor ?
A.QBA (L EmM(Protocols)
B.LD
C.RFCS
D.Q&6L 65ILDELEMEV
Ans: A

213.Three or more devices share a link in connection
A. Unipoint
B. Multipoint
C. Point to point
D. None of the mentioned
CLOGITMI I6LEVG UHMG CLMUL L. FTHEIMIGET 62(h Qéememili LA @D QST 61812
A62(I5 Lseiterd]
B.LI6L LeiTerll
C.point to point
D.8&6L 65ILHeLEM6V
Ans: B

214.When collection of various computers seems a single coherent system to its client, then it
is called
A. computer network
B. distributed system
C. networking system
D. none of the mentioned
ueLGaum seNeNsen CaafllNer emenm QSTGLUL _ 6161M) HMPSSILGHEMSG ?
A.&600T16011 6U6MTLIGHLOLIL]
BlgeoLl L HevL b
COBLQUTTEEM SI6MLOLIL
D.Q&6L gILhleLEm6V
Ans: B
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215. Communication channel is shared by all the machines on the network in
A. broadcast network
B. unicast network
C. multicast network
D. none of the mentioned
QL6860 2 eten ¢Tebeul HeamalGafaid H&Heued QML Gaered _ eT6dim) LAFULRLD 2
Aspefliugliy QBL(]s
B.2M6MM 6U6MEVLLIEHLOLIL]
C.LOVIG&HOVL QBL6T&
D.Q8l6L g5ILheLEmEV
Ans: A

216.Bluetooth is an example of
A. personal area network
B. local area network
C. virtual private network
D. none of the mentioned
L @S 150G 2-gmend

A.PAN
B.LAN
C.VPN
D.Q&6L ggILNcLEMEL
Ans: A
217.A is a device that forwards packets between networks by processing the
routing information included in the packet.
A. bridge
B. firewall
C. router

D. all of the mentioned
USRS 2 MMl hlgMh FHHEUMED CFWIOTHGEUSET CLPeOLD QB H QLG (eTCeaTmsHEIL
oG .
ALFLg
B.LILLIJEUM6D
c.QpenLLiy
D.GLOGYIEITEN 66T GILD
Ans: C

218.A list of protocols used by a system, one protocol per layer, is called
A. protocol architecture
B. protocol stack
C. protocol suite
D. none of the mentioned
— eeiug QpMpemmEails L igwiedled @@k JGEGES @k bMWD 6ler
JDPSSILGHEDSG! ?
A.Protocol Architecture
B.Protocol Stock
C.Protocol Suite
D.Q&60 61§V
Ans: B
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219.Which one of the following extends a private network across public networks?
A. local area network
B. virtual private network
C. enterprise private network
D. storage area network
D@ @G Qurg e (LHPEUGID @, Felwimy Nt B &sULGHADS 6TmI 618 ?
A.LAN
B.VPN
C.EPN
D.SAN

Ans: B

220. Physical or logical arrangement of network is
A. Topology
B. Routing
C. Networking
D. None of the mentioned
QLIRS 6LV HISHSHLD QBL 6 FHUT({H 6T6dT68
AGLmUmeLE)
B.Qlyeng mi
C.QBLQeumjé &k
D.Q &L 6gILHGLEMEV
Ans: A

221.In which topology there is a central controller or hub?
A. Star
B. Mesh
C. Ring
D. Bus
Q6L NMHHWSHNS 2 MW SLRUULE 6L oD CHmaULILGH DS
A.GMOLIT}
B.ClLb&9
c.fim
D.L6MN

Ans: A

222.This topology requires multipoint connection
A. Star
B. Mesh
C. Ring
D. Bus
UGHEG Lev Qeneunilil CHemeulILGAMS)
A.6MOLITY
B.GLD619
c.fim
D.L6M

Ans: D

223.Data communication system spanning states, countries, or the whole world is
A. LAN
B. WAN
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C. MAN
D. None of the mentioned
wrheomisafler BrEaanNed SeLVG 2 V&L (LP(PEUSHID 2 6Tem FT6| AFTLIL (Ledm 615 ?
A.Gevetr
B.6UIM6dT
c.GLoeor
D.GLogyléiTen eI ILhleL6m6L
Ans: B

224.Data communication system within a building or campus is
A. LAN
B. WAN
C. MAN
D. None of the mentioned
@@ SLLLSHCN 606V UAMTESHGCELT 2 6o HIa QSTLIL (PN 615
A.Gevetr
B.6UIM60T
c.GLoedr
D.GLogyléiTen e ILBleL6m6L
Ans: A

225. Expand WAN?
A. World area network
B. Wide area network
C. Web area network
D. None of the mentioned
WAN  elifleum&aLd
A.World Area Network
B.Wide Area Network
C.Web Area Network
D.Q&60 61&ILOELEMEV
Ans: B

226. In TDM, slots are further divided into
A. Seconds
B. Frames
C. Packets
D. None of the mentioned
TDM @L &6 sTedeunm) LNf&&LLHSeiTmeot
A.Q&F&H6T0TL_ 610
B..NGHLherv
C.UTEHQSL_6M
D.Q&6L gILhleLEm6V
Ans: B

227.A local telephone network is an example of a network.
A. Packet switched
B. Circuit switched
C. Both Packet switched and Circuit switched

D. Line switched
Ceomd&ed QL eOCUMsH QBL 66 5MEG @ 2-STJ6uID



AUTEQSL. ervedll_&
B.circuit PO &
C.o LHMID Sy
D.6M6V6IT VeIl &

Ans: B

228.What are the Methods to move data through a network of links and switches?

A. Packet switching

B. Circuit switching

C. Line switching

D. Both Packet switching and Circuit switching

@ emeuILIL|&eT MHMID VT F&6T 62(h LML CLHEVLD 6 HhSIHHI

2 _6iTeng) ?
AUTSQSL eruall_&
B.circuit YVSIL_&
C.6m6V60T VeIl &
D.& LOHMID &)
Ans: D

6T6OT60T (LP6MMS6IT

229.The resources needed for communication between end systems are reserved for the

duration of the session between end systems in
A. Packet switching
B. Circuit switching
C. Line switching
D. Frequency switching
HHULCHTLILSHES CHEMEUIITET PSTIHIGET 6TH% QMIS (P
@15 UL G .
AUTEQSL ervell &
B.circuit 6rOGIL_&
C.606060T VI &
D.frequency VL&

Ans: B

230. In resources are allocated on demand.
A. packet switching
B. circuit switching
C. line switching
D. frequency switching
CoaMmlémssE RHISGSHLILILL G TIHISET
AUMGQ&L ervelll_&
B.circuit 6rVOIL_&
C.6m6V60T VAL &
D.frequency eNVIL_&

Ans: A

231.Which of the following is an application layer service?
A. Network virtual terminal
B. File transfer, access, and management
C. Mail service

D. All of the mentioned
@dled Metreupd  aNsioremilL CFameausaned e6iTm| 615 ?

STV HMSTSH
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AQBL & aij&&eaIs0 QL JLOl6TTeL
B.file transfer access, and management
C.mail service

D.GLDEL 2 616N SIEMETISHHILD

Ans: D

232. What is WPA?
A. Wi-Fi protected access
B. wired protected access
C. wired process access
D. Wi-Fi process access
wrPA  elifleun& &L

A.wi -fi protected access

B.wired protected access

C.wired process access

D.wi fi process access

Ans: A

233.In wireless distribution system
A. multiple access point are inter-connected with each other
B. there is no access point
C. only one access point exists
D. none of the mentioned
alwifQeverv NHIGUITES  SIeMLOLIL| 6T6OTMTEL  6T6dT60T 2
ALev gerv Leel 6p(bouTHRST(HEU]T QenensaLILIL (BeTeng)
B.gJorv Leiterll @e06mev
Cc.eCrowm(, e LeTef
D.CLOGYIETTEN 6THILD Bl6LEmIEV

Ans: A

234.Physical or logical arrangement of network is
A. Topology
B. Routing
C. Networking
D. None of the mentioned
OpLeid 5EHES MUy 6T6ITMMEL  6T60T60T
AGLMGuTeLg)
B.QIFeTL_L_[J
C.QBLQeUTTEHERI
D.CLogYI6TEN 6THILD G6LEn6L
Ans: A

235. In which topology there is a central controller or hub?
A. Star
B. Mesh
C. Ring
D. Bus
6he GLIGUTLE amll 6m6iTm  JUMPSSLLGHDG
A6roLITly
B.QILD6D
c.fim

59



D.LI6M

Ans: A

236.This topology requires multipoint connection
A. Star
B. Mesh
C. Ring
D. Bus
Ans CLMCGUmTeLTHIUNEL Lev @emewuiliL] 2 6Teng)
ALY
B.QILD6Y
C.fim
D.LIer

Ans: D

237. Expand WAN?

A. World area network

B. Wide area network

C. Web area network

D. None of the mentioned
WAN ellfleun&sLd

AWorld Area Network

B.Wide Area Network

C.Web Area Network

D.GLDGYI6NTEN 6THIQLD Q6LEM6L

Ans: B

238. In TDM, slots are further divided into
A. Seconds
B. Frames
C. Packets
D. None of the mentioned
TDM 6Tedeumm)l Nf&SLLGHDS

A.seconds

B.frames

C.packets

D.CLOGYINTEN 6THILD 6LEmIEV
Ans: B

239. Multiplexing technique that shifts each signal to a different carrier frequency
A. FDM
B. TDM
C. Both FDM & TDM
D. None of the mentioned
Multiplexing [BIL_LILD 6TeleuMM)| 6p6lQeum(p H&estemeoud Gaumul L GCailWf&HE LrmHmID
A.FDM
B.TDM
C.ol LMHMID 3y
D.CLogylenTen 1D @eLemev
Ans: A



240.Most packet switches use this principle
A. Stop and wait
B. Store and forward
C. Both Stop and wait and Store and forward
D. Stop and forward
SLLSHFLL UTEQSL &MLE 6hg FGLAUTNImWIL LWGTLGSSHIHMS

A.stop and wait

B.store and forward

C.o LHMID Sy
D. stop and forward

Ans: B

241. What are the Methods to move data through a network of links and switches?
A. Packet switching
B. Circuit switching
C. Line switching
D. Both Packet switching and Circuit switching
QenerIliL|&eT OHMID SN &&H6T (b QB QTS cLpeVd HT6| hEJHS (LPEMMESBET 6T6oT6ur?
ALTSCSL LDTMIH60
B.EFJSULL LOMMI&6D
c.eufl LImi&eL
DUTEQSL &l & MHmID FFHULL OMTMSL S Greu(Hid
Ans: D

242.The resources needed for communication between end systems are reserved for the
duration of the session between end systems in
A. Packet switching
B. Circuit switching
C. Line switching
D. Frequency switching
Ams saefsErs@ QenLGui QML Q&meTenr GCHemeUITs o4& MhiGeT @6L 2 6iten
QM SIEOLILSEEFHES QemL GILITET D6 STLGHMETE & ISSLILL (HeTerne.
ALTSESL LDTMIH60
B.FJSULL LOMMI&6D
c.euifl LMmiged
D.SIHTC6U6TI LDTMISH6L
Ans: B.

243. In resources are allocated on demand.
A. packet switching
B. circuit switching
C. line switching
D. frequency switching
MRS CHMUGCHENL 6281HHILGRHMDSI.
ALTSQSL. LDTMIH6L
B.&EIL& LDMTMIFH6D
c.euifl LTmIgeL
D.SISTC6U6T LDITM)ISH6L
Ans: A

244, Multidestination routing
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IS same as broadcast routing

contains the list of all destinations

data is not sent by packets

. none of the mentioned

NJ&FMy L lgm

AUl JeyLlghl S{emLOW|LD

B.6TELEUIT QL RIGEHHGSLD LILIqUI608 C&Teu(heTens)
C.UTEQSL (HSENTEL HJ6Y SIsmILILILILIL 0160606V
D.GMUIL LUL efl6Dsmev

Ans: C

OOw>»

245.The Internet was originally a project of which agency?
A. ARPA
B. NSF
C. NSA
D. None of these
QL QB Himieusd (LpHeOleL 6ThG HmieueTs et HL_L LD?
ASlgum
B.6T.-Ll
C.6T60T.6T6106]
D.QeummMied 61516GLD 6L6m6V.
Ans: A

246.Which of the following is a correct format of Email address?

A. name@website@info

B. name@website.info

C. www.nameofebsite.com

D. name.website.com

NeTeuBD (W&UHEE O6TTEhs60 (PSSl FFImeT (LenmUI?

AQUW @ 6UMELEHMEHHD @ FH6L6D
B.name@website.info
C.www.nameofebsite.com

D.name.website.com

Ans: B

247. HTML is used to create
A. machine language program
B. high level program
C. web page
D. web server
HTML 2 (h6UT&HS LILETLGH DS
AQuIhAr Quindly CQmAl SlL b
B.2 W L HLLLD
C.6UEM6VLILIGSLD
D.6U6MEL GEFEMEUWISHLD

Ans: C

248.In internet terminology IP means
A. Internet Provider
B. Internet Protocol
C. Internet Procedure
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D. Internet Processor
QL QB QLjLOl6TeLed LN 6T60TLG QLIT(H 6T
A. Q66U QULPRIGHI
B.@émeorit QpMI(LPmM
C.@\606mIL HEOIL (LPEMMD
D.@6m6uuTlL! Q&6
Ans: B

249.Which one of the following is not a search engine?
A. Bing
B. Google
C. Yahoo
D. Windows
Netteu@pld @@ CHL6L QuTM 6Lev?
ALNM
B.Ga &6
C.WM&a
DeN6GIIGL e

Ans: D

250. Verification of a login name and password is known as:
A. configuration
B. accessibility
C. authentication
D. logging in
@ 2 6THNLPe] QLW LOMHMID SL6YFQFTL FHUMTSSLILILL GI:
ASLL6nLDLIL|
B.SIDIG (PODES
C. RIS
D.QeummMied 61516GID Q6LsmeV.
Ans: C

251. DISNIC stands for the
A. Digital India System by National information Center
B. District Information System programme of the National Informatics Centre
C. Disseminating information of National important Councils
D. None of the above

DISNIC GMI&AMS)
ACHEI 586160 MLOWID CLPEVLD lg. IgBILL 6D @BEHWT &ervL Ld
B.CHHW 55660 MUISHE LOTULL HEHEUD HEH6U6L S L LD
Cc.CHAW UPSHHW &6stTHIL&ET LNMMIL H&HEUMED LILILIGE 6D
D.QeummMied 61516CLD Q6L6m6V.
Ans: B

252.Centre for Development of Advanced Computing(C-DAC. is the premier organization of
A. Ministry of Electronics and Information Technology (MeitY.
B. Department of Electronics
C. Department of Bioinformatics and information Technology
D. Department of Computer Science
Centre for development of advanced computing(C-DAC)- @m Ij]l]’g)l'l'm gISU)LDI'JLl 6T6OT60T 2
A.Ministry of Electronics and Information Technology(MEITY)
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B.Development of electronics
C.Department of Bio Informatics and Information Technology

D.Department of Computer Science

Ans: A

253. The primary objectives Digital India programme is
A. Infrastructure as Utility to every Indian Citizen
B. Governance and Services on Demand
C. Digital Empowerment of Citizen.
D. All the above.

9 BILL 60 QBT HLLGSH6T (G6TeND E60&E 6160160 ?
AedCGeun(p QHHU GlgDEMIGGSD 2 6THL LML IFSH.
B. @600 LMHMID Caemeu CaHMflEHans
C. GlLD&HAISHEHSHGLD 9B L 60 HHSMILD i6MsGHeL
D.CLDQYIEITEN SIE06TTSH GILD

Ans: D

254 NEGP stands for
A. Nationale-GovernancePlan
B. National electronic Plan
C. National Governance Plan
D. None of These

NEGP- @651 eNifleun&sLd eTetTenr?
A.Nationale Governance Plan
B.National Electronics Plan
C.National Governance Plan
D.Q &L gD E6Lsmev

Ans: A

255. The process of establishing, implementing and monitoring the well defined policies,
processes and procedures is called as

A. Governance

B. Policy making

C. Administration

D. Establishment
h61G UMILMIGSILL L. Q&TeTam&&eT QFwed(enm WMHMID (peiTaimilennsge QFweLLbES
WMHMID SHeorsmeniiy Hme|n CQFweLpemm el JHMPSHSILIGRAMS

A &8

B. Q&MeTems &I &&60

c. MijeursLd

D. 6MOGTLIETTLD

Ans : A

256.The E-governance initiatives of India utilizes which technologies
A. Internet
B. e-commerece
C. Cloud-computing
D. All the above technologies
QiHirales NETOINMRIGE HETUNWHE QSHTACLBIL LD sTlaITm) HemLPSSILGEHMSI?
A @\6M6UBILLILD
B .LO6iTeU6TN&LD
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c.Hema|l LWL IqhI
D.GLDGYIEITEN SIE06TTSH GILD
Ans: D

257. The termNIC stands for

A. National informatics Center

B. National internet center

C. Nation India country

D. National institute of commerce
termNIC- @601 eifleUT&HSELD 6T6dT60T 2

A.National Informatics center

B.National Internet center

C.Nation India Country

D.National Institute of Commerce

Ans: A

258.The managers can instantly provide their departmental information using computers
through
A.Internet
B.Cloud-computing
C.Management Information System(MIS).
D.National Informatics Center
HJUTHSET SHHIGET GHIEMDUITEST SHHEULHEME HEUIN6vil CLHVLD  6TEUEUTMI QULPRIGEHDITTSH6IT
A @\6M6UBILLILD
B.&ame . SLdLILLL gk
C.5H56UD SEMLOLIL
D.CHAW §&6I6D EMLOWILD

Ans: C

259. SWAN is an abbreviation of
A. StateWide AreaNetworks
B. Stable Wired Access Network
C. State Wide application Network
D. State Wide assessment Network
SWAN- @6tT eNifleun&sLd eT6oTenT 2
A.State Wide Area Networks
B.Stable wired Access Network
C.State Wide Application Network
D.State Wide Assessment Network

Ans: A

260.The CentreforRailwaylInformationSystems- CRIS
A. Helps in Booking Railway ticketing
B. Develops and manage the IT Applications of Indian Railways
C. Helps in tracking train movement
D. Helps in railway Signal Management.
AruNeLCal  HHEUD EMLDLILSSHTE EDLDWILD  6T63T60T ?
ALWEUIEEL (B (WpeiTuSley Q&I 2 56560
B.AhHW QruilebGeuullsit eeimemiliLgeng NaNBeHS QFuIg Hijauslsse|n
C.Qruileb QUISSMIGEDET SHEIIGHTEIILILSID 2 &6 &M
D.QNuNeL eememm CLOGLMETIIENGE 2 FHe MG
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Ans: B

261.Centre for Development of Advanced Computing(C-DAC.) is helping
A. for carrying out research and development in IT, Electronics and associated areas
B. Carrying hardware applications
C. Development of internet protocols
D. Development of Free softwares
Centre for development of advanced computing(C-DAC)- GTg)Q’)@') &g,meﬁlmgﬂ ?
A. 1T, LhledtenTaon) WHMID HCETHACIILL LUGHSHeied SumiEs wHmID NN SHemi
CLMHQSTETEUSH MG
B.eUSHTOUIT(H6T e6ToT6uuILILIGMSLI LIUIGTLI(H SIS 60
c.@Qemeuonil QBMI(LHeMEHeMET caTTEE
D. @6veus QOETOLITHLG6T 2 (Ih6UTSHE S 60
Ans: A

262. Developing a common, unified platform and mobileapp to facilitate a singlepoint of
access to all government services is attained by
A. Unified Mobile Application for New-Age Governance (UMANG).
B. National Land Records Modernization Programme (NLRMP).
C. Strengthening of Revenue Administration and Updating of Land Records
(SRA&ULR).
D. None of the above
SIMETHF STEFMRIS CFMEUBEHSHTE JFTUGSLD 62(I5 LsTaTenil 6TeMHMSHS 6 QLUITGHIeUM6DT
@(HRIAMEHS S6MD MHMID CULOTEMLIED LILIGTUTL 6DL 6T6l6UTM| 2 (haUTSHMSI?
ALSIL QLIS S EHENLDSGSHTEN 62 (HMIFE6THS QLDTEMLIGL LILI6TTLIT(E
B.CSAW MeLRISMET HESIOWILNSES6D S L LD
c.alpaumil Byaureasmg auIlLGSSHSD WHMID Hev uLSe|smear LGNS0
D.Q&6L e1gIQD @eL6Mm6V
Ans: A

263. CrimeandCriminalTrackingNetwork&Systems(CCTNS).
A. Used for efficient policing —Governance and IT- enabled state-of-the-art tracking

system
B. This will enable the Panchayats to deliver its mandated services to the Citizens
through ICT

C. The administration of the commercial taxes like VAT, CST etc.

D. Intends to use the ICT for the e-filing facility in the Supreme Court & High Courts
@mHmeliled HMID SOOI SausTaulll QBLQeuTjé MMID HEHLOLILSET 6TeleuTm)
SDPSESILGEDGHI?

ASmenwowimer GumeSery S4EhemD WHMID 1919947 GITEAMR HervL SH6T MHesms

QEWOLEGSHUIE).

B.Q& LEHFMLSHISHET SUGH6T SLL 06T CHFMEUSKEMET ICTE PV GlqLD&HEH5HGE

QUPRIGAISDES 2 H6LD.

C. VAT, CST Gumetip 6uj&5& euflaeflstt HlijeumsLd

D. 2§ BT HMID 2 W FHSIMSHD efiing 6uFHEHTEH ICT & LGTUHSSl6US)
Ans: A

264. This MMP that will cover all aspects of procurement right from indent to tender
preparation, bidding, bid evaluation and award of contract.

A. e-Procurement
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B. EDIForeTrade
C. online marketing
D. e-trading.
swimfluugleeo wHUIEE woHmID UubSSSH6T aNhg WHwaHDNNHEG o L UL gEH |
618 MMP  SIEDESIH G| LDFRIGEDETILID CSHTET(LPH6D CFIICUSMHTETT?
A. LO6T-GWwImiflLiLy
B. EDIFORE 6)(]&&&LD
C. S60T6M6V6IT LOMSHCISHL 1 M
D. @-0fHHHLD
Ans: A

265. UID-Unique Identity Number is
A. Aadhaar Number
B. Staff ID number
C. PAN Card Number
D. None of the above
UD - el Si6mL_LLIT6T 6T650T
A SLEHQMITI 616501
B. 2anAUINGET §3lq. 676501
C. UM6dT SiL6mL 616001
D. GGev 2 66N 6TGIOYD @6L6Mm6V

Ans: A

266. The MMP that intends to transform the business environment by providing efficient,
convenient, transparent and integrated electronic services to investors, industries and business
throughout the business lifecycle is
A. Ae-Biz
B. B.e-commerce
C. e-market
D. e-trading
QTS QUMDEHMS HLHME WP(PEUGID PGS LTeMfeeT QSMALSET HMID QIS |
QeueMiiLemLwimesr OMID e(HhIGnehS LheTemean eugFdHime Gmenuimst auwanHNnG.
MMP G&6MmeUSEMENT 6ULPMHIGEUSHEIT CLHEVLD QU6NG FLPenev LMHMID ChHTHSHSHIL 6T CFWLLIHLDETSHI?
A@- N6
B.@-&Mojerv
C. @-8heng
D.@6M[& & &LD-
Ans: A

267. The major focus of e-governance is to support the ongoing e-governance movement in
India by providing a single point information access for the service
A. Disseminating state specific e-governance initiatives
B. Creating awareness about the Right To Information (RTI).
C. Providing mobile governance
D. All of the above
Caemeus@ (5 LsTail S866D F)ISHmeD 6ULPMRIG6US6 e QHHWITaNeL BHL L LO6Ts&ES
QUISESHmE W SHFILILGCH e-goverenance @6iT LNTHTesT CHTEHSLD 6T6dT60T 2
A. mHlew GOIILL LO6IT-S4,EhemDg S LRSS S5 60618560
B.5&6U6L 2 flenn&ament eNLPILILETITeY () 1.19.63.)
C. QDMEMLIEL Y, EHEMLD CULPMHIGEUS)
D.GLOGeL 2_6iTaN IEM6TTSH )
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Ans: D

268. The IVRS stands for the
A. Internet via Radio Signal
B. Interactive Voice Response System
C. Integrated voice Recorder system
D. Internet based voice recognition system
IVRS eifleum&aLd 6T60T601?
A GrpGuwim FLOIGemEh ULDIWITE @)60I6T0TILILD
B. 2a1l MHLD G0 LIG6L SiemLoLiL
C. @(HRIEMWHS GSTL LSeY SHemLOLIL
D. @eneuuTl SqLILIEHLUN6LTsT GJ6L HMGEL S6MLOLIL
Ans: B

269. MMP stands for
A. Mission mode Projects
B. Mega Mission Project
C. Mission for Marginal People
D. None of the above
MMP eifleum& LD 6T60T60T?
A ueme (Wemm S L LD
B. Quam L6 L L LD
C. sppeneM@ L&S6T ChHI&HsLD
D. GGev 2 6ien 6THIQD E6LMmEV

Ans: A

270. CSC is an abbreviation of
A. Common Service Centers
B. Computer Staff Centers
C. Computer service Center
D. Council for Science City
csc eNfleun&sLd 61616012
A Qumgleumet CEHeMEU MLOLILD
B. &6utTlevtl a1 AIUITSH6NT 6MLOIMRIGET
C. &eutnesll GFemeU 60ILOUIMIGHENT
D. SN BEFSHEHMSTEST FemLl
Ans: A

271.SDC stands for the
A. State Data Center
B. Storage of Data for Commercialization
C. State data compiler
D. D.Signal Disseminating Centre
spCc eNfleun&sLd 61616012
A. LOMH6L &6 MLOWILD
B. 6UENSLOUILONSSED 6 GaLhlliL
c. wrhevsd &6y Qg m@GLLN
D. &LO&6MER UL 6MLOWILD

Ans: A
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272. Which project aims at providing support to the district administration by undertaking
backend computerization to enable electronic delivery of high volume citizen centric
government services using State Wide Area Networks (SWAN). State Data Centres (SDC).
and Common Service Centres (CSCs). to the common people?
A. e—District
B. e-Governance
C. DAR&PG
D. NeGP
LoMhlev SiemeNevmssT LijeueLTest GBLCleUMé (SWAN), LDMHID HJ6Y MLDWIRIGET (SDC) MHMID CUTgleuent
Gaemel MIDIIMIGET (CSCs) AWQIMMML LWTUBRGEH HHS AMeNeLMET (&lg LD 65T
OLWLILRSSHUIUL L SIfFTHRIS Caeneusenen Lhlsienen eNBCIITSESHmE QULDNMRIGUSHE CLHEVLD
Nergenggled seutneNCaeaned QFUIOIGE CLPCVLD LD&SHET Q6L 2 6eng| 618 ?
A.@-meil L §&led
B.E-governance
C.DAR & PG
D.NEGP

Ans: A

273. Agriculture MMP will provide sophisticated interface to the farmers for making
informed decisions by connecting the
A. Krishi Vigyan Kendras and farmers
B. KisanCallCentres and farmers
C. Agri-Clinics and farmers
D. All the above
N6UFMLILD MMP @Q6n6WILILIGE CLHEVLD S&eUevNHE (LPlge el 61(H&S alleusmusEns@ Hé&He0msn
Q6L (N&GHMG QUDRIGS 618 ?
A S alguwst CahATT HMILL eaNeugmuigesr
B. §1F60THM6L eMLOWID MHMID eNeugFTuNS6iT
c. Geuernmmesor &elenNs@a&6m WOMID eNeUSFTUNS6IT
D. CoGev 2 6Ta SIEMETISHG)

Ans: D

274, MMP reduced official-dealer interface, reduced response time, faster service
deliver, reduced transaction cost, increased transparency and increased accountability.
handling of a large number of dealers, who act on behalf of the State Departments to collect
tax from consumers and deposit it in the State treasury.
A. Employment exchange MMP
B. e-District MMP
C. commercial taxes MMP
D. Agriculture MMP
EN6UFMLILD MMP @Q6n6WILILIGE CLHEVD S&eUeLNHS (LPlge SeneT 1(H&S alleusmuisEnsE SHé&He0mson
QL (N&GHMG QUDRIGS| 618 ?
AS MY alguwstt CaHATT LHMID eNeugmuNger
B.&IF6HTSHT6L 6MLOWILD HMID eNeUsFmTuGel
c. Geuerntmesor &elenNs@a6m WOMID NeUSFTUNS6IT
D. CoGev 2 66 SIEMETISHG)

Ans: C
275. MMP help in providing speedy and easy access to employment related
services and information to job seekers and employers (both organized & unorganizedsector).
A. Employment exchange MMP

69


http://meity.gov.in/content/agriculture

B. e-District MMP
C. commercialtaxes MMP

D. Agriculture MMP
. MMP GeusmeveumiitiL] Q&mLumen CHmeUsEnsHE GCousHLomeT MM 6TaNGHT6T Si610)|SH6M60
QUPRIGSHEL LLOHMILD Geueney GC&HHLUTSHET LOMMID (LPFHLMTNBEHS (R(PRISMOSSLILILL LOMHMILD
R(LPMISMDSSHILL L GlEMMEE)
A. Geusmeveumiiy uflrhm MMP
B. LOGOT-LOMEUL L LD MMP
C. commerical taxes MMP

D. eNeUgmuLD MMP

Ans: A

276. The Land records MMP i.e National Land Records Modernization Programme
(NLRMP). includes the MMPs

A. Computerization of Land Records (CLR).
B. Strengthening of Revenue Administration and Updating of Land Records
(SRA&ULR).
C. The Jawaharlal Nehru National Urban Renewal Mission (JNURM).
D. Both Aand B
ool ugeyser 616119 8.Q) CHAW Hevld LSEYSHET HATGIOWILTSSHD L L LD (NLRMP) MMP &65)61
2 6oL &&LIG)
A Blev ufHeysaflstt &6utNesNLWILLTESE (CLR)
B. eu(heumil Hijeunssamg eueIL(GSSIHeL wMHMID Hev LeysHemner LGHILNGH (SRA & ULR)
c. gauamiyeored Ch CHAW BSHILILM LGHILINGSH60 L6 (JNURM)
D. a LOMMID b &AW QresurHid
Ans: D

277 MMP help in governance of Urban Local Bodies (ULB. and Governance in
municipalities comes under the Nationale-Governance Plan (NeGP. and the Jawaharlal Nehru
National Urban Renewal Mission (JNURM).
A. Municipalities MMP
B. e-panchayats MMP
C. e-districts MMP
D. None of the above
B&JULMD 2 eTenm_§ SieninliLsHafsit HijeurssSled MMP 2 g6l (ULB LMHMID HSJTL &&erlsd
L& CHA N6HT-GhEhend L GH6T S UBHAMS (NEGP OHMID gReuamjeoned Chn CaH&
BSIULM UGILNGSHL HL LD (JNURM)
A BEJTLES6T MMP
B. LOl6OT-LIEHEMUISS| 6TLD.6TLD.LT.
C. LOl6dT-LomeuL L LD MMP
D. CoGev 2 6imar 61gIQD EeL6m6V

Ans: A

278. MMP will enable the panchayats to deliver its mandated services to the Citizens
through ICT, effectively with transparency. It will also enable the panchayats to take better
decision by better data management and expenditure monitoring.

A. Municipalities MMP

B. e-panchayats MMP

C. e-districts MMP

D. None of the above
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MMP @QL0&SE@F6@ G SLLehem CFemeussner ICT cpevld HmbuL  QeueflliLenL wimest
Womued aPRIGSNHG 2 Falb. Q& HAMhe Hre| GClemamam WOMID CFE6| SHeHusHTeuLL
CLAGULD HELEL (WPIg6Y 6T(H&S LIEhEFMLSSHIHMET QFIOLIHSHILD.

A BEJTLEG6T MMP

B. LOI6OT-LIEHEMLIGE| 6TLD.6TLD.LT.

C. LOGoT-LoMeuLL LD MMP

D. CoGev 2 6imer 61GIQD GeL6m6V
Ans: B

279. IVFRT stands for the
A. Interactive Voice For Rapid Transactions
B. In-vitro Fertility Research Technique
C. Immigration, Visa and Foreigners Registration &Tracking
D. International Visa and Foreigners Regulation & Trafficking.
IVFRT eifleum&aLd 6T60T601?
A. ellemyeumsst Lfleuj&Smeni&E 2L mHLD GFeL
B. @61-QEWmHens el SImi&Fs HiLLLD
C. Gl CwmmLD, eN&m wMHMIL GCleueNBTL g 60T LU&H6Y & SH6T0TSHT6sunLIL
D. &JeuGae algm wmMID QeuefBigey s GUUTE WHMID HL&&6L
Ans: C

280. Digital Empowerment of Citizens helps
A. Citizens not required to physically submitting Government Documents/Certificates
B. Citizens digital resources/services in Indian languages
C. Citizens to Universally accessible digital resources
D. all the above.
GlqL05eofl6tT 19 L 6L CUTEH 2 HUEMS 6187
A. GlGLD&ESET JITEFMRIS YEUTTHISGET / FTTNSLD&HMeT 2 L 60 FHITS FLOIINEGS
Geuetonigul Sieu&lih @evemev
B. @hdw QmNseaNed GlglndseT 9B L 60 6UaTRIGET | CFmEUBHET
C. 2.6V SEDIHED GBI LD EUSTRISENET GLGLOSE6T
D. GGev 2 616 M6 E)
Ans: D

281.Data analytics has application in
A. Testing data
B. Analysis of Variance
C. Probabilistic methods
D. All the above
g6y eNumgd Liwledtum(y eT6oT6or?
A. &6y Gamgemen
B. mmIUmT(hy UGLILMTIe]
C. H&LSHEHE| (LPENMEEIT
D.GLDQYIEITEN SIED6TT S GILD
Ans: D

282.MOOC stands for

Mass Open Online Curriculum.
Massive Open Online Courses
Mass online open Content
None of these

COow>
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mMooc eNlifleun&sLd eTedTenT 2
A.Mass Open Online curriculm.
B. Massive open online courses.
C. Mass online open content.
D. @eummMleL ¢JGILDI6LEMEL
Ans: B

283. LMS stands for
A. Learning Management System.
B. Lecture Management System.
C. Learning Material System
D. None of these

LMS 6160 GMSHMGI?

A. Learning Management system

B. lecture management system.

C. Learning material system..

D. @eummieL ¢JGILOI6LEM6L.
Ans: A

284.E-learning and it allows you to access
A. online

B. offline.
C. Material System
D. All the above.
E.learning LOMMILD SiG60T CHILD 2 HIGEDET SIS HEDIDSSHMGI?

A.online

training

B.offline

C.material system.

D.@eummMied 67GILNELEM6V.
Ans: A

285.LMS can be used to
A. Track the Students Learning Process
B. To enter assignment marks.
C. To inform parents about student progress
D. To prepare questions.
LMS 615ME LwleTL(HLD?
A. LOMEBOTEUT&ET SMMEL CFUIEL(LDEMM SH6TISHTE00T &S
B. U6wN @OIINMEG6T HI6mLPU
C. e (WeiGsrmm&ens UMM QUHCOHT(HEEG QF5faNss.
D. CaeaN&semen HWIMf&S
Ans: A

286.MOOC can play a vital role
A. Three sectors
B. Two sectors.
C. Many sectors.
D. None of These.
MOOC (&SI URIEG 6uf&s (LPlgUjb
A. CLOGTTMI SIEMMGET
B. @yeni(h HEOHMSaTleL

sectors

SIMMGerileD.
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C. L6V GIsmm&ealed
D. @eummied ggiLbleLEmEL
Ans: A

287.The word MOOC was coined by
A. David Cormier
B. Cormier.
C. Cornshell.
D. None of These.
MOOC 6UMJ&6MG CLPEVLD 2 (HheUMHHLILIL L &]?
A. David cormier.
B. cormier
C. corn shell
D. @eummled gJILbleLEMEL
Ans: A

288.Harvard and MIT joined together to create the platform.
A. EDX
B. Swayam
C. E pathshala
D. All the above.
Harvard and MIT 2 ([h6UT&S €R6MTMNE CEIHE) HeLGLOGDIL .
A. EDX
B. swayam
C. E pathsala
D. GGev 2 616N SI6M6TISH G
Ans: A

289. Coursera was founded in the year
A. 2012
B. 2010
C. 2009
D. 2019
Course era 6ThG Setor(y BmIeLILIL L &]?
A. 2012
B. 2010
C. 2009
D. 2019.

Ans: A.

290. The first University which offered course content on the
IS

A. Pennsylvania university

B. MIT university

C. Harvad university

D. None of the above

e-learning platform

PGEL LLEMELESHLNGID 6TeLGIGTTTetIR GLO6ML UL HFFUIDTES 2 M6 SHHMG CULDMIGILIGI?

pennsylvania university
MIT university
Harvad university

CGev 2 616 SI6M6TTSHG).

oo »
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Ans: A

291. NPTEL stands for
A. National Programme for Television Enabled Learning
B. National Programme for Time Enabled Learning
C. National Programme for Technology Enabled Learning
D. National Programme for Tranning Enabled Learning
NPTEL eNfleun&&Ld eTedtenr 2

A.National programme for Television enabled learning.

B.National programme for Time enabled learning.
C.National programme for Technology enabled learning.

D.National programme for Training enabled learning.

Ans: C

292. National Council for Educational Research and Training (NCERT. designs syllabus for
A. For college students
B. For distance Education.
C. For school students
D. For Diploma student.
National council for educational research and Training(NCERT) 6MIq.66MLOLIL| LITL $HLL RIGET 6THMETE?
A. BELEII LDITETSTEL T8 (E1h &G
B. ST &HLN&GHTS
C. Leafl LOMEuTeUTSErh&STS
D. IqL16MGLOIT LOMETITENTS E1h &S

Ans: C

293.A digital library is a collection of
A. digital documents
B. offline documents.
C. Internet address
D. Free softwares
@@ 19BLL 6L BIVSSHH6T CQGHMGLIL 6T63T60T?
A 19BILL 6D Y 6M6TITRISEIT
B. &,-LI60I6V60T S, 6L6T0TIRIS6NT
C. @em6uonll (Lp&6uf)
D. @6veud QLDESTEILIT(HL el

Ans: A

294 .Electronic journals, also known as
A. E-journals
B. documents.
C. address
D. None of the Above.
LON6OTEOT60D) LSS FENGHGHET --nmenmeemeanv @Qeueummid SMLDSHSILGEDG 2
A @-L5AHHen&S6T
B. &), 6M600TMRIG6NT
c. wpseu
D. @861 e15IaLHELEM6V
Ans: A.

295. what is an antivirus?
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A. Bigger and more dangerous virus
B. Software used to duplicate viruses
C. Computer software used to prevent, detect and remove malicious software
D. A biological agent that reproduces itself inside the cells of living things
SI60TLq 6M6UTEIV 6T6OTMITED 6T63T60T?
A QUAlw OMID OSED YUSSTE sneUTery
B. 606UJOV [HSH6L Q&I LweTUESHSIUGELD QLoeSTOLIT(H 6T
C. SRIADPEGLD QALETAUTHmETS &(H&HS, SNl WHMID HSHMIQUSHDETS
LwetTURSSLILELD S6usieoil GILO6oTGILIT (I 61T
D. 2 uflermuseilest o uNyaniseHeisn 2 e1Gem gedtensn Wsnkd 2 UNFUNGSWD 6@@h
2 uNifluied (pseur.
Ans: C

296. A computer virus is a malicious program
A. Software
B. duplicate viruses
C. Computer software used to prevent
D. None of the Above.
@b &Ml MeUTaV SHISEDLYEHE@HLD-- - SLLLb.
A. QLOETQUIT (K 61T
B. GUITEd emeurery
C. &euetll QeTQUTHET §HES LWeTLGSSULEBLD
D. @861 61HI6LACLEMEL
Ans :A

297.Virus has the ability to spread from one system
A. To other system
B. To software
C. To Hardware
D. None of the Above.
[1)YoY]) (/g V JEe—— SN (BHE LTa&Falgll Hmenes Qsmesi(heTeng)
A LOMM SIELOLILY
B. QILD6dTQUIT(, 61T
C. UESTRILIT(B 61T
D. GGev 2 6fen 6TgIQYD @6L6m6V

Ans A

298.which of the below not an Antivirus program
A. NortonK7
B. Kaspersky
C. Linux
D. Avast
&G o 6o 6THE (b meurerv HEHLUL HLLID QeLenev?
A. Nortonk7
B.Kaspersky
C.Linux
D.Avast

Ans :C

299. Hacking is a process of finding the possible ways for getting into the
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javascript:%20void(0)

A. computer

B. Hardware

C. Software

D. Application

Cams&mn _ mmWpeIsnHE FTHHIDNET euflGHamer &eau(hLlgILSmaTes. QFIeL(LPemMm

A.&680T607)
B.6U60TGILIT (I, 61T
C.QUDETQUIT (I 61T
D.6X6zor6vorLILI

Ans A

300.Hacking is divided as parts.
A. Two
B. Three
C. Four
D. Five
Hacking ___ 6T6oT LNfl&SLILL BeTens)
A. @t
B. €LD6iTM)
C. BIT6ITG
D. ®bS
Ans A

301. Ethical hacking means
A. The process that finds the weakness in computer or network
B. The process that finds the weakness in computer.
C. The process that finds the weakness.
D. The process that finds the weakness.in computer
QBEO(PEDM (ethical) COMEEMI 6T6ITMEL 6T60T6ON
A. geuetll 16060 QBLCQEUTTESHE Lvatsmes Sl Meugsmerer CFWwed(Henm
B. &euuNeoNulleL LevaiesHms SETHLIGEGD QFUIO (LM
C. Lovaindms sa(HNGEGLD QFWedLpemm
D. &euletNluNled LevafsrHems Sau(HUgSEGLD QFUISO(HemMm
Ans A

302. Network Hacking is the process of gathering information about
A. Domain
B. computer
C. Hardware
D. Software.
QABLQeum s Cam&dm e1siiug UMM §Eaeme CFSHILILG
A QLmemLO6HT
B. &6uunlenfl
C. 6UGTQLIT(h 6T
D. QuOeTQLIT (6T
Ans A

303. The process of accessing or manipulating an email account and mail correspondence
without the knowledge.

A. Email Hacking

B. Network Hacking
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C. Digital Hacking
D. Hardware Hacking.

aMe] @eveumned 6  LNGITEIEHFEL &HOUGHEG WOHMID SEFD HlHHMS TS VL)

EOSILITETEUSHMSITE CI&F LIS (LP6MM
A LDetTenTEhEeL CamsEm
B. QBLQeumjs Camé&m
C. P L CamsEn
D. eueTQUmHeT CamsEml
Ans A

304. Big data denotes the large volume of several kinds of

manner
A. computer
B. Hardware
C. Software.
D. Data

that changes in a rapid

BigData LI6V euen&WIMenT QU Siememe GMSHMG 318 aNemyalrs LIS

A &eutieohl
B.  6UESTQUIT(, 61T
C. QuDesTQUIT(m, 61T
D. &hey

Ans :D

305. Social networks are the systems that use the computer networks and

A. WWW

B. Face book

C. Whats up

D. Data

&ed umeLLILT6TETeL SHeueNesil QB QeuUMT&H@G &6 MMILD

A WwWw

B. FACEBOOK

C. WHATS UP

D. S&EUCLS6I

Ans : A

306. Which among the following is not a social media
A. Facebook
B. Twitter
C. LinkedIn
D. EDX
S1p&&auLeumMIL Q& @b Feps QFUIS 26 &b i6L6L
A . Guewus
B . LelL
C . OmCsL Q6tr
D . EDX

Ans : D

307. NETRA means
A. Network Traffic Analysis
B. New Traffic Analysis
C. Node Traffic Analysis

LIwIstTU(R & SIS 6T Gl
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D. Normal Traffic Analysis
NETRA QILAI(LP6MMUITE

A.  Network Traffic Analysis

B New Traffic Analysis
C. Node Traffic Analysis
D

Normal Traffic Analysis

Ans A

308. SNA means
A. Social Network Analysis.
B. Science Network Analysis
C. Student Network Analysis
D. None of the above
SNA QILAI(LPEMMUITES
9|.Social Network Analysis
3),.Science Network Analysis
@.Student Network Analysis
FF.GLOGeL 2 6fTem s1HID @6LEm6L

Ans:A

309. In the year 2014, the government launched a scheme
A. MyGov.in
B. My.in
C. Mygove.in
D. None of these
2014 SYID SY600TIq.60, SITFMRIGHD &S 26 ShiG6re0
A.MYgov.in
B .MY.in
C.Mygove.in
D.CLoGev 2 6iTar 6TGHIOLD @6L6mEV
Ans: A

310. EDI stands for
A. Electronic Data Interchange
B. E-mail Data Interchange
C. E-commerce Data Interchange
D. None of these Above

EDI GMN&HHME

A .Electronic Data Interchange

B .E-mail Data Interchange
C .E-commerce Data Interchange
D . GGev 2 6iTen s1HIOD @6LsmEL

Ans: A

311. wifi is a short name for
A. Wired fidelity
B. Wireless fiedelity
C. Wireless frequency
D. None of the above
wifi 6T6STLIGI €@(h, S Quiwty

on Social Media.

AL M SMWaILGSHIISI.
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A HLOUSLD
B.EUILITCI606M LIgI6MLD
c.euwfQevery SIS feleuesor
D.CLoGev s1HIYD GeLem6L
Ans: B

312. URL includes
A. Proctcol Type
B. Path of web Resource
C. Domain name port Number
D. All of the above
URL SILRIGLD.
A .Proctcol 66M&
B. QU6MEV 6UEGH6HT LITenG
C. QLmemoedt Quuwly GUITL 6T6gor
D. GGev 2 6TT6Nm SIMEBISHGHILD

Ans :D

313. Which of the following software is not a web server
A. Apache
B. Internet Information service(lls.
C. Mongoose
D. Python
SoeMeayd QTAUTHeN6 618 aemew GCEMAILISD H6L6L
A SIIUTES
B. Qen6uuill §EH6U6LD CFemed (Il He).
c. &fluMenenen
D. 6MLIGMTET

Ans :D

314.In Internet communication “cookie” is used for
A. Storing authentication information from at server side for entire session
B. Storing authentication information from server
C. Detecting information from server
D. Detecting instructions from entire side
Qeneiil Qenewilly "G&E" Qev LWSTLGRSSULGEDE
A (P SLTaEEG CemaLE LEEHHO([BHE JREST] §salmeL CELOGSH
B. C&mMEUWISESHO(BHG AREST] FH&HeUmeL C&LOG S0
C. CeEmaIISESS0(HHE HHEULSHMETEH &H6HoTl_MlgeL
D. (PP USESHOBHS QULNLPDEDENT SH6TorLMHigHed
Ans: A

315. Spams are called
A. Unsolicited commercial Email.
B. Commercial Email
C. Non commercial Email
D. None of these above.
Spams 6T6sTLILI(HLD
A SIBTOCHI 6u6TINS LO6T60T(EhF6L.
B. 6u60IN& LOl6tT6DT(EHTF 6D
C. SI6L6LITE 6CUETING LO6IT6DT(EhF 6L
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D @eummleL 615G @eLeme6v.
Ans:A

316.CRIS means
A. Centre for Railway Information System
B. Common Railway Information System
C. Centralized for Railway Information System
D. None of these
CRIS QUIT( 6T
A JUT6L HH6EUD SMLOLIL 6HLOWILD
B QuTg QruNlebGeu 866D Si6MLDLIL
C. JuNeLGeu H&H6UD (LPMMEMDSESHTE MOWILILIESSLILIL L )
D. @eummied 67&ILHeLEMEV
Ans :A

317. What are the three principles SWAYAM
A. access, equity
B. access, equity and quality
C. access, quality
D. none of the above
GrOGUMLD CLPGITM)| CIBT6ITEMSHEB6IT 6T60T60T?
A.SIEIHED, LhG
B.QIE)|&H6D, FLOUMKIEG MWD SILD
C.SITI&HED, FLD
D.GLOGeL 2 6iTen 61HILD G6L6mI6L

Ans :B

318. Computer virus program is usually hidden in a
A. operating system
B. application program
C. disk driver
D. both Aand B

&euunleoTl smeurery HIJEL CULPSHHIOMG €R(h -—----mr---mmem-mmms LEMSESILL I (H&GLD

AQUIES (LPHMEDLD

B.eXNegor6vorLILI HlyeL.

C. alL(h Quwiss

D. UL(B Qusé
Ans :D

319.Another name of computer antivirus is
A. vaccine
B. worm
C. Trojan horse
D. DES
gemnenfl emeureay LMAMTE G
A SEULE
B. (P
C. LGymeett eummiyery
D. lg@éTerv
Ans :A
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320. e-Book are
A. Electronic version of books
B. Electricity Book
C. Emergency Book
D. Employment Boo
LOV60T-L& & SLD
A. UsGemisenleon Lhlsieoreon LISIIL
B. LO60T LSHSHSHLD
C. SI6UF] LSS
D. Geuemeveumuitiy L,
Ans: A

321. Which among these is not an MOOC platform
A. Coursera
B. edX
C. facebook
D. udacity
Aeummled MOOC Fenld @eLsmev
A. Coursera Hﬁ).@Q’)GUITH)
B. edX
C. (P&HHTEL
D. Udacity

Ans :C

322.coursera was started by
A. Andrew Ng and Daphne Koller. Princeton
B. Andrew Ng
C. Andrew Ng and Daphne Koller
D. None of these
Coursera ILIMJT6L S4UDNGSLILLL )
A.SLETTL ¢ 61601 LOMMID L MIGesT Gamevevly MiflsireroL gl
B.o4,6001L_¢IH 6T60T &) .
cmmid LmiIGer CameLeVIT g3l o) 6601L ¢, 6T60T.
D.@eummMied egILhleLEm6L
Ans :A

323.edX is an online platform destination
A. Self Learning
B. Writing
C. emailing
D. None of these
Edx (I 9),60T606V60T LN6LLGLITIILD
A GUILDME SMHMEL
BET(L0S G-
CLOI60T63T(6h & 601 (h 621G 60T.
D.@eummMied egILhlcLEmEL
Ans :A

324.The NPTEL offers the programmes with the duration ranging from
A. 5 weeks to 12 weeks
B. 4 weeks to 12 weeks
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C. 7 weeks to 12 weeks
D. 8 weeks to 12 weeks

6161161616 &HMELLILGSHUNCD HL L hiGHemen aUphiGEME NPTEL
AQUMHRIGHT 12 UMTRIGET (LPHEL 5
B 4.6UMIRIGET (LDHED UMJRISGET 12
C 7.60UMJRIGET (LPGH6ED 6UMJRIGET 12
D.UMJRIGET 12 QUTIRHIGET (NG 8
Ans :B

325.E- Book is the electronic version of the books which can be accessed
using
A. ICT tools and internet
B. ICT tools
C. ICT tools and intranet
D. None of these above.
D6 LSSHHD LSS SMmiserleon LOsieoremn LS HUMEDD 6TH60 CLHEVD IEImI&H (LPIg.U|LD?
A.ICT Tools and internet
B.ICT Tools
C.ICT Tools and intranet
D.QeummMied 6ILHeLEMEL
Ans :A

326.B2C commerce
A. includes services such as legal advice
B. means only shopping for physical goods
C. means only customers should approach customers to sell

D. means only customers should approach business to buy
B2C 6U6UUN&LD

A.6T60TLIG| FLL o4Ceomsenest GUITETN GCHFEMEUSBEDET 2 6TaTLSH&ILIS)

B. 6T60TLIGH 2 L 60 QuUIT(BeT WL (GG aemifh QUIT(be

C. 6T60TLIGI.  6UMQ.SEMSBILITEMISHET CUMSHENSUITETHEFHG NG TGS ULPOD P GSLD.
D. 6T60TLIG QUM SEMSIITATISHET QUTRIGISNEG QUEMNESHMS lanis Galet(hLd.

Ans :C

327.By Electronic Commerce we mean:
A. Commerce of electronic goods
B. Commerce which depends on electronics
C. Commerce which is based on the use of internet
D. Commerce which is based on transactions using computers connected by
telecommunication network.
LO\6OT6UTETD) EUGTINSHLD 6T6OTLIG)
ALDl6tT6oTenn)| QUIT(HLG6ET UTSHSHHD PGSLD..
B.LA6TsTTEEmIONUIEL FMIHE G-
c@ememon LLeTUT(ER SilgLiLenLuiled 2 66 Uf§HHSHLD oG LD.
D.QBMEMEVQAGTLIJL|  6UMELIIOIOLIL]  SigLILIenLUTevmest &6utT 6371 S6m6TTL uweTL(h &S
uifleuj& SHenenrseilett SiiqLILIHL UNELTET 6U[J&SHSLD
Ans :D

328.Firewall as part of a router program
A. Filters only packets coming from internet
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B. Filters only packets going to internet
C. Filters packets travelling from and to the intranet from the internet
D. Ensures rapid traffic of packets for speedy e-Commerce
Hengall S L GE6T @@ LGS ..LILITEUTED
A.QemeunLS Sle0(hh& QUL UTHEESL (h&emeT LG allgsL (GEME)
BRememLGHMG. QFaid UTsEQsL (Haemen L HGCL allgsl HEMmE
Co_6MBMLIgMEG LIIEN&GGSLD LUTEQ&L (haHenem Q6T JOBL 1g60 @@GHE WwmHmID. L HGD
allg5L (HHMmE)
D.ONIENIEUTET  -e&HTDIENV &H&HT6T LITGGEL (h&erilesr ellemyeume CUTEGTHMS 2 M
QeSS
Ans :C.

329.A digital signature is
A. abit string giving identity of a correspondent
B. aunique identification of a sender
C. an authentication of an electronic record by tying it uniquely to a key only a sender
knows
D. an encrypted signature of a sender
@@ 9B L 6D MGHCULTLILLD 6T6TLIG|
A HmHUT @@ Quiflil FJD ML WIT6MLD
B 6011& HI6ULDITET  H6ML_UITENTLD.
C SIPILBBSS @CT @G.LLECL A5HHS @@ aNmese Q& @ LT FTsemsSeim
SIRIESTLD
D.SQILLBR6T GOUTSSILLL en&QUITLILILD

Ans :C.

330.In Electronic cash payment a
A. Debit card payment system is used
B. A customer buys several electronic coins which are digitally signed by coin issuing
bank
C. A credit card payment system is used
D. RSA cryptography is used in the transactions
LO6tT6uTEID) QTS SL_L6UILD 62 (1h
A UuDmMl SILenL QesFIDd (Wemm LWeTU(RSSUILGE DS
B. @ 6UMQ&NSIWITEN L6V HTGUIMISNeT 6UTHRIGEHMTTIHM6 g8 L 60 (LHEmMUNEL
IBITEO0TILI ULPMIGSH6ED EURIGUITED mSGUITILLAIL LILI(H&H6dTm 6
C. HL60T QFIHHID (oM LeTLRSSLILGAMS)
D. @MWT&EEHaNuIeL uflrmHmhiseafed LTLEGESSUILGEDE RSA
Ans:B
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